% VELJAN

VTXB

VT6B

VT6C

VT6CSH

VTé6D
VT6E
VT6CM
VT6GC
VT6CP
VT6DM
VT6EM
VT7B
VT7QC
VT7D

VT7E




HIGH PERFORMANCE VANE PUMP VTXB

Series

Mounting
1-SAEA
2-SAEB

Cam ring
Volumetric displacement cm® /rev (in® /rev)
BO2 = 5.8 (0.35)

BO3 = 9.8 (0.59)

BO4 = 12.8 (0.78)

BO5 = 15.9 (0.97)

BO6 = 19.8 (1.21)

BO7 = 22.5 (1.37)

BO8 = 24.9 (1.52)

BO9 = 28.0 (1.71)

B10 = 31.8 (1.94)

B11 = 34.9 (2.13)

B12 = 41.0 (2.50)(cont. 175 bar, Max. int 210 bar)
B14 = 45.0 (2.75)(cont. 140 bar, Max. int 175 bar)

Type of Shaft
TXB1

1 - Keyed (Non SAE)
2 - Keyed

3 - Splined

4 - Splined

5 - Keyed

V - Splined

TXB2

1 - Keyed (Non SAE)
2 - Keyed

4 - Splined

Direction of rotation (view on shaft end)

R - clockwise
L - counter-clockwise

|
1
|
|
1
)
{

*¢ VELJA

0 *
L Modifications
Port connections
CODE| S P
0o | SAE20 1'5/8 | SAE12 1"1/16
12 UNF-2B 12 UNF-2B
01 |1"1/4 SAE 4bolt| 3/4" SAE 4 bolt
(UNC) (UNC)
Mo |1 1/4 SAE 4 bolt| 3/4" SAE 4 bolt
(METRIC) (METRIC)
02 1"1/4 BSP 3/4" BSP
. SAE 12 1"1/16
03 | 1"1/4 NPTF 15 UNF-2B
0X | 1"1/4 NPTF 3/4" NPTF
x| ©28 SAE 4 bolt | B15 SAE 4 bolt
(METRIC) (METRIC)
Seal class

1 - 81 (for mineral oil)
4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire

OPERATING CHARACTERISTICS (24 cSt)

S - Suction port

resistant fluids)
Design letter

Porting combination

00 - standard

7 o 02 03
P Ps 3 A
—Eo— —Eo— —:_ —:-
& & @
S

P - Pressure port

Pressure . Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
port Series P!splacementSVp p = 0 bar (0 psi) | p = 140 bar (2000 psi)| p = 210 bar (3000 psi)|p = 7 bar (100 psi) |p = 140 bar (2000 psi){ p = 210 bar (3000 psi)

in® /rev cm’/rev | gpm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw

B02 0.35 5.8 2.30 8.7 1.4 5.9 - - 0.53 0.4 2.81 2.1 - -

B03 0.59 9.8 3.88 14.7 2.9 11.9 - - 0.67 0.5 3.62 2.7 - -

B04 0.78 12.8 5.08 19.2 4.33 16.4 3.97 15.0 0.93 0.7 5.23 3.9 10.06 7.5

B05 0.97 15.9 6.31 23.8 5.55 21.0 5.18 19.6 1.00 0.75 6.64 4.9 11.2 8.3

B06 1.21 19.8 7.85 29.7 712 26.9 6.66 25.2 1.07 0.8 8.05 6.0 12.34 9.2
VTXB1 | BO7 1.37 22,5 8.92 33.7 | 817 309 | 780 | 295 | 1.20 0.9 9.05 6.7 | 14.02 | 104
VTXB2 B08 1.52 24.9 9.89 37.4 9.15 34.6 8.78 33.2 1.34 1.0 10.05 7.5 15.69 11.7
B09 1.71 28.0 11.11 42.0 10.37 39.2 10.00 37.8 1.47 1.1 11.94 8.9 23.60 17.6
B10 1.94 31.8 12.61 47.7 11.87 44.9 11.51 43.5 1.6 1.2 13.0 9.7 26.0 19.6
B11 2.13 34.9 13.85 52.3 13.09 49.5 12.72 48.1 1.7 1.3 14.0 10.5 28.0 21.0

B12 2.50 41.0 16.27 61.5 15.53 58.7 * * 1.8 1.4 15.02 11.2 * *

B14 2.75 45.0 17.86 67.5 17.12 64.7 ** ** 2.1 1.6 15.42 11.5 *% *%

-- Not to use because internal leakage greater than 50 of theoretical flow.

* B12= 210 bar(3000 psi) Max.Int
** B14= 175 bar(2500 psi) Max.Int

Note : Product details are liable to change without notice




HIGH PERFORMANCE VANE PUMP VTXB

*¢ VELJAN

A3 A4
—
/7 : 1.59 1.24 1.5
_ . (40.4) (31.5) (38.1)
Y = 1.0
(25.4)
@ : = -. _ i
0.05x45° . 0.5 x 45° . 0.05x45° o 0.05x45° .
(1.5x45°) (1.5x45°) (1.5x45°) (1.5x45°)
. _ Shaft Code 4 Shaft Code 3 Shaft Code V
Involute Splined shaft Involute Splined shaft Involute Splined shaft
A\S Class 1-J498b Class 1-J498b Class 1-J498b
16/32 d.p 13 teeth 16/32 d.p 9 teeth 16/32 d.p 11 teeth
30° press. angle 30° press. angle 30° press. angle
Flat root side fit Flat root side fit Flat root side fit
Al
4.33 Sq.
AS X (110.0)
A6 A7
A2
0.29
J (7.6)
Nl
Nje
a I 3
=]
@ A = - ) )
=aEE ® A=
VELJAN \ — "
I o
[a)
Q
\¢ I Shaft Code 1
(Keyed non SAE)
/ MOUNTING TORQUE 96 ft Ibs
(130Nm)
DIMENSIONS OF KEYED SHAFT in inches (mm)
MODEL | CODE X Y oD3 B w
1 1.75(44.5) 0.98(25) 0.75/0.74(19.05/19.00) 0.83(21.1) 0.250/0.248(6.35/6.30)
TXB1 2 1.96(50.0) 0.98(25) 0.625/.624(15.88/15.85) 0.69(17.7) 0.187/0.185(4.75/4.70)
5 2.66(67.6) 1.61(41) 0.75/0.74(19.05/19.00) 0.83(21.1) 0.187/0.185(4.75/4.70)
1 2.32(59.0) 1.25(32) 0.875/0.874(22.22/22.20) 0.96(24.5) 0.156/0.155(3.97/3.94)
TXB2
2 2.81(71.4) 1.49(38) 0.875/0.874(22.22/22.20) 0.96(24.5) 0.187/0.185(4.75/4.70)
DIMENSIONS in inches (mm)
MODEL A1 A2 A3 A4 A5 A6 A7 oD1 oD2
TXB1 | 5.11(130.0) | 4.18(106.2) 0.44(11.2) 0.24(6.1) 4.88(124.1) 2.47(62.9) 0.98(25.0) 3.25/3.24(82.55/82.50) 0.44(11.2)
TXB2 | 6.87(174.5) | 5.74(146.0) 0.5(12.7) 0.38(9.7) 4.94(125.6) 2.29(58.4) 1.22(31.0) 4.00/3.99(101.60/101.55) 0.56(14.3)

Note : Product details are liable to change without notice



HIGH PERFORMANCE VANE PUMP VTXB

SAE 20(1 5/8"-12 UNF)

7/16-14 UNCx0.78 DEEP

(M12x20 DEEP)

4 HOLES
SAE 12(1 1/16™12 UNF)

1.18

@2 ]

e
/

2.31

[

3/8-16 UNCx0.78 DEEP

*¢ VELJAN

M10x17 DEEP

0.87
(22.2)

4 HOLES Ymmxzo DEEP)

M8x14 DEEP

&

AN
A

4 HOLES \

W

PORT CONNECTION 00

1
(47.6)

(31.8)

PORT CONNECTION 01&MO0

(38.1)

(19.0) (15.0)

(28.0)

PORT CONNECTION MX

11/4* BSPx19 DEEP 11/4" NPTFx19 DEEP

3/4" BSPx19 DEEP

-

an

SAE 12(1 1/16™12 UNF)

11/4" NPTFx19 DEEP

3/4" NPTFx19 DEEP

N -

PORT CONNECTION 02

v

PORT CONNECTION 03

-

_.

an
o

PORT CONNECTION 0X

INTERNAL LEAKAGE (TYPICAL)

NOISE LEVEL (TYPICAL)

(1.6) 6 70 [TInlet pressure 0.9 bar abs
Viscosity 32 cSt
— ——24Cst 1000 RPM
E s e 1500 RPM
g | 10 Cst o Lw=Lp +8db (A
£ (1) 4 g & p
S <
< ]
E’ 0.8) 3 ‘_g ,,,,,,,,
8 (g 2 z O 1
E g
£ 031 ~ T e
@
FR T ——
0 50 100 150 200 240 2
(725)  (1500)  (2000)  (3000)  (3500) =
)
Pressurer in bar (psi) 50
0 50 100 150 200 240
Do not operate. pump for. more than 5 secqnds at (725  (1500) (2000)  (3000)  (3500)
any speed or viscosities if internal leakage is Pressure in bar (psi)
more than 50 of theoretical flow.
POWER LOSS
HYDROMECHANIAL (TYPICAL) PERMISSIBLE RADIAL LOAD
(68.1) 300
6 L
----- n=2500 rpm ] F
n=1500 rpm (24 cst)
5| — n=1000 rpm . —Fi
4 ﬁ (45.4) 200 Shaft keyed N° 1
s =z /
[ S T— o
P T N B, ©
R — R S (@27 100
% P I N S S /
K e I —
0 0 100 150 200 240 0
5 5 4
(725)  (1500)  (2000)  (3000)  (3500) 600 1000 1500 2000 2500

Pressure in bar (psi)

Note : Product details are liable to change without notice

Speed n (rpm)

Maximum axial load permissable Fa = 500 N (113.6 Ibs)




HIGH PERFORMANCE VANE PUMP VT6B

VTéB - B09- 1

(=]
(=]
10
(=}
N
*

Series | — Modifications
Cam ring
Volumetric displacement cm3/rev (in¥/rev) Port connections
BO2 = 6.5 (0.39) CODE S P
ggi i 122 (gsg) 00 SAE 20 1-5/8" | SAE 12 1-1/16"
= 128(0.78) 12 UNF-2B 12 UNF-2B
B06 = 20.7 (1.26) 1-1/4" SAE 4 bolt| 3/4" SAE 4 bolt
B08 = 26.1 (1.59) o1
B09 = 31.5(1.92 (UNC) (UNC)
B12 : 39'7 52'42; Mo 1-1/4" SAE 4 bolt| 3/4" SAE 4 bolt
T (METRIC) (METRIC)
Type of Shaft 02 | 1-1/4" BSP 3/4" BSP
1 - Keyed (Non SAE)
2 - Keyed 03 1-1/4" NPTE SAE 12 1-1/16"
3 - Splined (SAE A) 12 UNF-2B
4 - Splined (SAE B) oX | 1-1/4" NPTF | 3/a" NPTF
5 - Splined SAE (11 teeth)
11 - Splined
. . . . Seal class
Direction of rotation (view on shaft end) ) .
) 1 - 81 (for mineral oil)
R - clockwise
L ] 4 - S4 (for fire resistant fluids)
- counter-clockwise
5 - S5 (for mineral oil and fire resistant fluids)
Porting combination
00 - standard

Design letter

00 01 02 03

P P-S P P

[ [ [ =
Q> & ©: o)

S- Suction port P- Pressure port

PERMISSIBLE RADIAL LOAD

INTERNAL LEAKAGE (TYPICAL) (68) 300
z (1.6) 6
s — — 10cst
G (13 5 — > R I Fa
~ —— 24 cst o
£ P 5 @5 200 Shaft keyed N° 1
~ =
2 (11) 4 - =z
f= — -
£ _ c
_ £
S 08 3 > w
$ - 3
© _- L — S (2 100
o 09 2 > 3 /
© -7
~
£ 09 1 =
2 -~
E — = 0
0 50 100 150 200 240 600 1000 1500 2000 2500
(725) (1500) (2000) (2500) (3000)

P in bar (psi) Speed n (rpm)
ressurer in bar (psi
Maximum axial load permissable Fa = 500 N (113 Lbs)

OPERATING CHARACTERISTICS (24 cSt)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm |
Series|Displacement Vp|p = o bar (0 psi)|p = 100 bar (1500 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)[p = 100 bar (1500 psi)[p = 240 bar (3500 psi)
port insrev_| _cmejrev | _gpm | Ipm gpm | ipm | gpm | Ipm hp kw hp kw hp kw
B02 0.39 6.5 2.64 | 10.0 2.11 8.0 - - 0.53 0.4 2.81 2.1 - -

B03 0.54 8.8 3.49 | 13.2 2.96 11.2 2.43 9.2 0.67 0.5 3.62 2.7 7.1 5.3

B04 0.78 12.8 5.08 | 19.2 4.55 17.2 4.02 | 152 0.93 0.7 5.23 3.9 10.06 75

VT6B B06 1.26 20.7 8.20 | 31.0 7.67 | 29.0 714 | 27.0 1.07 0.8 8.05 6.0 12.34 | 92

B08 1.59 26.1 | 10.34 | 39.1 9.78 | 37.0 9.25 | 35.0 1.34 1.0 10.05 7.5 15.69 | 11.7

B09 1.92 315 | 1248 |47.2 11.93 45.1 11.42 | 432 1.47 11 11.94 8.9 2360 | 17.6

B12 2.42 39.7 | 15.74 | 59.5 15.18 | 57.4 14.68 | 555 1.74 1.3 15.02 11.2 2950 | 22.0

-- Not to use because internal leakage greater than 50% theoretical flow.

Note : Product details are liable to change without notice



*¢ VELJAN

3/8-16 UNCx0.75 DEEP-4 HOLES
(M10x19.0 DEEP)

0.44 1.24
(11.2) (31.5) 2.94
0.874 1.19 0.30 1.59 030 (74.7)
(30.2) (7.6) (40.4) : 2.00
(22.2) — 0.30 (7.6)
7.6) (50.8)
. L 0.59 L L 1.472
‘ 1.00
W\ (15.0) 25.4) (37.4)
38 & = ==
9o © - { _ {
<z - | |
[~ (]
| 0.06x45° ——}0.06x45° N '%
e o) 3| o L
] (1.5x45) i (1.5x45°) ] gl2
- 0w
N(Q
8|2
0075 — Shaft Code 3 Shaft Code 4 ~ Shaft Code 11
(19'_0) 01.25 SAE A Splined shaft SAE B Splined shaft Splined shaft
(31.7) Class 1-J498b Class 1-J498b Class 1-J498b
7/16-14 UNCx0.6 DEEP 4 HOLES 16/32d.p 9 teeth 16/32 d.p 13 teeth 16/32 d.p 11 teeth
(M12x15.0 DEEP) 30° press_. ang_le 30° press. angle 30° press. angle
flat root side fit flat root side fit flat root side fit
5.71 2.19
(145.2) (55.6)
‘ 3.38 122 0.30 0 155(1)20)
‘ (86.0) ‘ (31.0) (7.6) 418
i ‘ 0.25 MAX. (106.2)
i | J : (6.35) KEY 0.187/0.185
;-122 (4.75/4.70) ‘
0| B o e1o
N /
oo R
|2
XS £ — Ik
© — wls  old
I ) I N pad 3l 1=
VELJAN £ g8
— Slai
2|3 —3glg % ol 39 ‘
N S ?_; = = 8 E |
—-]- — 3l 3= } ‘
— 0.06x45° || S o [ }
) o T
0.03xas0 _| (1:5%459) |l=
(0.8x45°) Shaft torque limits in3/revxpsi(ml/revxbar)
MOUNTING TORQUE 95 ft.Ibs Shaft Code 1 Shaft Vp X p max.
(130 Nm) (Keyed non-SAE) g 5119 (5780)
4 18246 (20600)
2.779
1.24 (70.6)
(31.5)
0.30 1.059
76) 26.9) 45 SAE 20(1 5/8"-12 UNF)
(31.8) % SAE 12(1 1/16"-12 UNF)
M M ‘ 066 I|g
_ .| 059 (168) Q|5
(15.0) -~ w
0= —
3l ~LH
= §J@ ik H*H'/* -
~|=
0.06x45° 1 < 1 B
"(1.5x45%) 3 s Woodrufkey g %
| 25 | 7/8 18UNS =&
o= a8
(=3¢ =2
Shaft Code 5 Sl & Shaft Code 2 ‘
SAE Splined shaft Woodruf key }
Class 1-J498b Recommended
16/32 d.p 11 teeth nut Torque
30° press. angle 125 ftlbs (170 Nm) PORT CONNECTION 00
flat root side fit 1.1/4" NPTFx1.0 DEEP

1.1/4"NPTFx1.0 DEEP

11/4" BSPx1.0 DEEP

3/4" NPTFx0.75 DEEP

\(19.0)
|

3/4" BSPx0.75 DEEP
(19.0)

SAE 12(1 1/16"-12 UNF)

PORT CONNECTION 02 PORT CONNECTION 03 PORT CONNECTION 0X

Note : Product details are liable to change without notice




HIGH PERFORMANCE VANE PUMP VT6C

ViIeC * - 022 - 1 R 00- B 1 *
Series
Modifications
Y - Metric port connection, Omit for UNC
c . Seal class
am ring 1 - 81 (for mineral oil)
Volumetric displacement cm3/rev (in3/rev) 4 - S4 (for fire resistant fluids)
*
003/B03/Y03 = 10.8 (0.66) 015/B15/Y15 = 50.5 (3.08) ) . ) . :
5 - S5 (for mineral oil and fire resistant fluids;
005/B05/Y05 = 17.2 (1.05)  017/B17/Y17 = 58.3 (3.56) ( )
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8(3.89)
008/B08/Y08 = 26.4 (1.61) 022/B22/Y22 = 70.3 (4.29) L Design letter
010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42) Porting combination
014/B14/Y14 = 46.0 (2.81) 031/B31/Y31 = 100.0 (6.10) 00 - standard
*0'-  Uni-directional 'B'- Bi-directional 'Y'- Bi - directional 00 01 02 03
for cold start P p.s P P
Type of shaft = —8— —&— —8—
2 - keyed (no SAE) s
3 - splined (SAE B) S- Suction port P- Pressure port
4 - splined (SAE BB) ) ) }
Direction of rotation
(view on shaft end)
R - clockwise
L - counter-clockwise
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6C - 022
75
(6.5) 24 Inlet pressure 0.9 bar abs
24 cSt Viscosity 32 cSt
_ - — — 10cst o n = 1000 RPM
E_ (5.5) 21 Pz g — — n = 1500 RPM
o Pl ° Lw = Lp + 8 db (A)
~ (5.0)18 2 70
£ - = _ -
=] - = -
c (40)15 - -
= -~ -
S g < e i
% o - % g g /
g P > _ -
§ @00 - - 3 T 7
° P _— ) —-
— 2 / — —
C (15) 6 o 60
£ — 2
2 P e / 2
£ (10 4 > -
- L 3-
0 55
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500)  (1000)  (1500) (2000)(2175)(2500) (2700)(3000) (3500) (4000) (145) (725) (1500) (2000) (2500) (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
5
n= 2800 rpm (318) 1400 —
— —— n=1500rpm (24 cSt)
4 n = 1000 rpm (272) 1200 |-
—
S a Shaft keyed N° 1
= Q  (227) 1000
~ =
o 3 _ 2
% [ =z
a Lo —|- T £ (182 g0
] - w
g * ) - | 8 (a9
L= 3 600
3 [ —
S - I —— 4 T
[ - -
1 (90) 400
@5) 200
0
0 35 70 105 140 160 175190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800
(500)  (1000)  (1500)  (2000)(2175)2500)(2700)(3000) (3500) (4000)

Pressure in bar (psi) Speed (rpm)

Maximum axial load permissible Fa = 800 N (180 Lbs)

Note : Product details are liable to change without notice



*¢ VELJAN

2.29
3/8-16 UNCx 0.75 DEEP-4 HOLES 0.50 58.2)
(M10x19.0 DEEP)
0.31
(7.9) 1.60 1.79
1.41 (40.7) 45.5
(35.8) 031 | (45.5)
(7.9) 0.31
(7.9)
] ;fg KEY 0.1875/0.1855 L
s \ (31:8) (4.762/4.712)
Q‘i @ 0.965 0.965
/ (2'4_5) (24.5)
©|S ] o|F
~ S |l $— Sl — - — <
NS qile
0.06x45° 0.06x45°
> 0.06x45°
\ @ [A5xa59 "  <[8 % (1.5x45°) (1.5x45°)
. ~
o|N —_
(E sy F3
< e 23
. 2N
o 32‘% ] S Shaft code 3 Shaft code 4
(38.1) - SAE B splined shaft SAE BB splined shaft
Class 1-J498b Class 1-J498b
1/2-13 UNCx0.88 DEEP-4 HOLES
: (M12xx22.4 DEEP) Shaft code 2 16/32 dp. 13 teeth 16/32 dp. 15 teeth
(Keyed no SAE) 30° pressure angle 30° pressure angle
flat root side fit flat root side fit
6.36 2.81
(161.6) (71.4)
3.24 1.50 0.38
82.3 38.1 X
62.3) (0 31 ) ©n KEY 0.250/0.248
@9 0.25 MAX. (6.35/6.30)
J J._ (6.35) M8x0.63 DEEP
‘ /" (16.0)
gl¥ g 1.50 /)
|8 (33.1/)
™)
o8 / e
a8 ga /8
T —] — == - —- -t -—t1F— - — NI
Qe 8|
q: -
[ P Q2 of =~
<8 0
006xd5° | &IR ZF|a gl
(1.5x45°) S| =@ =
o5 83
N
XN ©
SR
.05x45° S
mIIOUNTING TORQUE 117 ft.lbs . 0.05x458%
(1.3x45°)
(159 Nm)
Shaft code 1 Shaft torque limits in3/rev x psi (ml/rev x bar
(Keyed SAE B) Shaft Vp x p max.
1 14473 (16500)
2 12666 (14300)
3 18246 (20600)
4 19309 (21821)

OPERATING CHARACTERISTICS - TYPICAL (24 cST)

Pressure . Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement V[, = 0 bar (0 psi)[ p = 140 bar (2000 psi)| p = 240 bar (3500 psi)| p = 7 bar (100 psi)|p = 140 bar (2000 psi)|p = 240 bar (3500 psi

port in3/rev | cm3rev | gpm | Ipm | gpm Ipm gpm Ipm hp kw hp kw hp kw
003 0.66 10.8 429| 16.2| 296 11.2 2.04 7.7 1.74 1.3 7.11 5.3 11.26 8.4

005 1.05 17.2 6.83| 25.8| 550 20.8 457 17.3 1.88 1.4 | 10.06 75 16.36 | 12.2

006 1.30 21.3 8.44| 319 7.1 26.9 6.19 234 2.01 1.5 | 11.94 8.9 19.71 | 14.7

008 1.61 264 | 10.48| 396 9.15 34.6 8.22 31.1 2.15 1.6 | 1435 | 10.7 2293 | 177

010 2.08 341 |1352| 51.1| 12.19 461 | 11.26 426 2.28 1.7 | 1864 | 134 2990 | 223

012 2.26 371 | 14.71| 556 | 13.36 50.6 | 12.46 47.1 2.28 17 | 1931 | 144 3232 | 24.1

VT6C | 014 2.81 460 |18.25| 69.0| 16.93 64.0 | 16.00 60.5 2.55 1.9 | 2360 | 17.6 39.56 | 295
015 3.08 50.5 |20.00| 75.6| 18.73 732 | 19.02 67.5 2.68 2.0 | 25.61 19.1 4291 | 320

017 3.56 58.3 | 23.12| 874 21.79 824 | 20.87 78.9 2.82 21 | 2937 | 219 49.48 | 36.9

020 3.89 63.8 | 25.32| 957 23.99 90.7 | 23.07 87.2 2.95 22 | 3192 | 238 53.91 | 40.2

022 4.29 703 | 27.88| 105.4 | 2656 | 100.4 | 2563 96.9 3.08 2.3 | 35.00 26.1 59.14 | 44.1

025" | 4.84 79.3 | 31.46| 1189 | 30.13 | 113.9 2901 | 1104 3.35 25 | 3916 | 29.2 66.38 | 49.5

028"?| 5.2 888 | 3524|1332 3392 | 1282 | 3328 | 1258 375 | 28 | 4385 | 32.7 65.04 | 48.5

031" 6.10 100.0 | 39.68| 150.0 | 38.35 | 145.0 | 37.72 | 1426 3.75 28 | 4895 | 365 7295 | 54.4

1) 025-028-031 = 2500 RPM. max.

2) 028-031= 210 bar (3000 psi) max. int.

Note : Product details are liable to change without notice




HIGH PERFORMANCE VANE PUMP VT6CSH

|
1
|

VI6CSH W * - 022 -

Series

Use for severe duty shaft only

0 - B 1- 00 *

L Modifications

Mounting W/connection variables

UNC METRIC

One letter can be added to 00 | o1 Mo M1
specify special parts in series P 1" [3/4" 1" [ 3/4"

S 1"
Cam ring
Volumetric displacement cmd/rev (in3/rev) ——— Sealclass
*003/B03/Y03 = 10.8 (0.66) 015/B15/Y15 = 50.5 (3.08) 1 - S1 (for mineral oil)

005/B05/Y05 = 17.2(1.05) ~ 017/B17/Y17 = 58.3 (3.56) 4 - S4 (for fire resistant fluids)

006/B06/Y0S = 21.3(1.30)  020/B20/Y20 = 63.8 (3.89)
008/B08/Y08 = 26.4 (1.61)  022/B22/Y22 = 70.3 (4.29)
010/B10/Y10 = 34.1 (2.08)  025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26)  028/B28/Y28 = 88.8 (5.42) Design letter
014/B14/Y14 = 46.0 (2.81)  031/B31/Y31 =100.0 (6.10)

5 - S5 (for mineral oil and fire resistant fluids)

Porting combination
*'0'-  Uni - directional 'B'- Bi- directional 'Y'- Bi- directional
for cold start 00 - standard

Type of shaft

00 01 02 03
P P-S P P
1 - Keyed (SAE B) —8— —8— —8— -
- Solna A€ & &
s

4 - Splined (SAE BB)

Severe duty shaft VT6CSHW S- Suction port P- Pressure port

5 - Keyed (SAE BB) Direction of rotation
(view on shaft end)
R - clockwise

L - counter-clockwise

INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6CSH - 022
(6.5) 24 70
24 cSt ~ Inlet pressure 0.9 bar abs
—_ - — — 10cSt - Viscosity 32 cSt
g_ (5.5)21 > 3 n = 1000 RPM
5] i o — —n = 1500 RPM _
~ (5.0)18 v [72] Lw = Lp + 8db (A) ~
£ - —-
= - = & —
= (4015 s P
» - < -
(¢} - = -
o (3012 > % -
) P A ad P /
] j = ~
§ @0 e - // - % 60 -~
= 2 < L—T ; -
T (15 6 ] -
£ _— S
‘g (1.0) 3 ad — = /
B > -
- // )
0 55
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(145) (725) (1500) (2000) (2500) (3000)  (3500)
(500)  (1000)  (1500)  (2000) (2500) (3000) (3500)  (4000)
(2175) (2700)

Pressure in bar (psi)
Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

PERMISSIBLE RADIAL LOAD

HYDROMECHANICAL POWER LOSS (TYPICAL) (204) 900
5
- — n=2200rpm (181) 800
— — n =1500 rpm (24 cSt)
4 n = 1000 rpm E (160) 700 o _|.Fa
E =) Shaft keyed N° 1
3 = (136) 600
[ c
3 £
E w (113 500
L ——1 k]
o - — - o
= - - 91
5 2 - - S ©1) 400
g | (68) 300
4 I P B
L s p——— =T —— (45) 200
I ——
[
— (22) 100
0
0 35 70 105 140 160 175 190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800
(500)  (1000) ~ (1500)  (2000) (2500) (3000)  (3500)  (4000)
(2175) (2700 Speed (rpm)
Pressure in bar (psi) Maximum axial load permissible Fa = 800 N (180 Lbs)

Note : Product details are liable to change without notice -




3/8-16UNCx0.75 DEEP-4 HOLES

1.60

0.50

(M10x19.0 DEEP)

1.41

(35.8)

(12.7)

(40.7)

0.31

2.75
(70.0)

21.50

(38.1)

1/2-13UNCx0.88 DEEP-4 HOLES

(M12x22.4 DEEP)

(7.9)

0.06x45°
(1.5x45%)

Shaft code 3
SAE B splined shaft
Class 1-J498b
16/32 dp. 13 teeth
30° pressure angle
flat root side fit

1SS

0.06x45°
(1.5x450)

Shaft code 4
SAE BB splined shaft
Class 1-J498b

16/32 dp. 15 teeth
30° pressure angle
flat root side fit

*¢ VELJAN

2.81
(71.4)
(07%1) KEY 0.250/0.248
’ (6.35/6.30)
] 1.50
] @8 M8x0.63 DEEP
é (16.0)
0.06x45° <8 X
(1.5xa5°) 5S E _
oy <
BN g
N os
9§ o¢
N
Shaft code 1 S[&

(Keyed SAE B)

OPERATING CHARACTERISTICS - TYPICAL (24 cST)

6.63 2.81
(168.5) (71.4)
3.24 1.50
(82.3) (38.1) 0.38
0.31 9.7)
! )
‘ ; 0.25 MAX KEY 0.250/0.248
— — (6.35) / (6.35/6.30)
gy H M8x0.63 DEEP
oL (16.0)
28
— )
83 e % o 3z
6|2 T 7 —= B g8 gs
z g3
hypy
ol % 9|2 gl&
0.06x45° 25 2| 812
— (1.5x45°) S|y & Sli
—1- H gle =& ‘
! =[5
o SIS \
0.05x45 VT6CSHW
\ (1.3x45°) ‘
MOUNTING TORQUE 138 ft.lbs Shaft code 5 Shaft torque limits in3/rev x psi (ml/rev x bar)
(180 Nm) (Keyed SAE BB) Shaft Vp X p max.
1 14473 (16500)
TS T 5 3 18246 (20600)
4 19309 (21821)
0.75 (19.05) | 1.87 (47.6) 0.87 (22.2) 5 18945 (21420)
1.00 (25.4) | 2.06 (52.4) 1.03 (26.2)

Pressure Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp |, = o bar (0 psi)[p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|p = 7 bar (100 psi)jp = 140 bar (2000 psi)jp = 240 bar (3500 psi
port in3/rev cm3rev_| gpm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
003 0.66 10.8 429 | 16.2] 2.96 11.2 2.04 7.7 174 | 1.3 7.1 53 | 11.26 8.4
005 1.05 17.2 6.83 | 25.8| 5.50 20.8 457 | 17.3 1.88 | 1.4 10.06 75 | 1636 | 12.2
006 1.30 21.3 844 | 319| 7.11 26.9 6.19 | 234 201 | 15 11.94 89 | 19.71 | 147
008 1.61 26.4 |10.48 | 39.6| 9.15 34.6 8.22 31.1 215 | 16 14.35 10.7 | 2293 | 177
010 2.08 341 |1352 | 51.1| 12.19 461 | 11.26 | 426 228 | 17 18.64 134 | 29.90 | 223
012 2.26 37.1 14.71| 55.6/| 13.36 50.6 | 12.46 471 228 | 17 19.31 144 | 3232 | 24.1
VT6CSH | 014 2.81 46.0 |18.25| 69.0| 16.93 64.0 | 16.00 | 60.5 255 | 1.9 23.60 17.6 | 39.56 | 29.5
015 3.08 50.5 |20.00 | 75.6| 18.73 732 | 19.02 | 675 268 | 2.0 25.61 191 | 4291 | 32.0
017 3.56 58.3 |23.12| 87.4| 21.79 82.4 | 20.87 | 78.9 282 | 21 29.37 219 | 49.48 | 36.9
020 3.89 63.8 [25.32 | 95.7| 23.99 90.7 | 23.07 | 87.2 295 | 2.2 31.92 238 | 53.91 | 402
022 4.29 70.3 |27.88 | 105.4| 26.56 1004 | 2563 | 96.9 3.08 | 23 35.00 26.1 | 59.14 | 44.1
025" | 4.84 79.3 |31.46 | 118.9| 30.13 1139 | 2921 | 110.4 335 | 25 39.16 292 | 66.38 | 49.5
028"% 542 88.8 |35.24 | 133.2| 33.92 1282 | 33.28 | 125.8 375 | 2.8 43.85 32.7 | 65.04 | 485
031"?] 6.10 100.0 [39.68 | 150.0| 38.35 1450 | 37.72 | 1426 375 | 2.8 48.95 365 | 7295 | 54.4

1) 025-028-031 = 2500 RPM. max.

Note : Product details are liable to change without notice

2) 028-031= 210 bar (3000 psi) max. int.




HIGH PERFORMANCE VANE PUMP VTG6D

VT6D * = -

YTe0

Series

N - Shaft seal installed reverse

Q - Special mounting cap with ear
orientation of 20° from standard

Y- Metric port connection (not for code 'Q)

Omit for UNC

Cam ring

Volumetric displacement cm3/rev (in3/rev)

*014/B14 = 47.6 (2.90)
017/B17 = 58.2(3.55)
020/B20 = 66.0 (4.03)
024/B24 = 79.5 (4.85)
028/B28 = 89.7 (5.47)
031/B31 = 98.3 (6.00)

o'~ Uni - directional

035/B35 = 111.0 (6.77)
038/B38 = 120.3 (7.34)
042/B42 = 136.0 (8.30)
045/B45 = 145.7 (8.89)
050/B50 = 158.0 (9.64)
061/B61 = 190.5 (11.62)

Bi - directional

Type of shaft
1 - keyed (SAE C)
2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (no SAE)

INTERNAL LEAKAGE (TYPICAL)

(8.0) 32
- — — 10cSt
= 24 cSt -
g_(m) 28 © —~
S -
(6.0) 24
£ -
£60) 20 -
» e
o
o (4.0) 16 _ =
g - -7
£
E 3.0) 12 - //
3 —
c o8 ~
2 P e /
£ (10 4
7
7
Z
0
0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500) (2000)  (2500) (3000)  (3500)
(2175) (2700)
Pressure in bar (psi)
HYDROMECAHNICAL POWER LOSS (TYPICAL)
6
- — n=2400 rpm
— — — n=1500rpm (24 cSt)
n = 1000 rpm
5
54 T S o
0
a
@ 3
o
=
g
o 2 e —
a = —
S -
—
1 I
0
0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500) (2000)  (2500) (3000)  (3500)

(2175) (2700)

Pressure in bar (psi)

Note : Product details are liable to change without notice

Load F in N (Lbs)

*¢ VELJAN

R 00 - 1 *

L

Modifications

Seal class
1-S81 (for mineral oil)

4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination
00 - standard

00 01 02 03
P P-S P P
[ [—=_] [—=_] [—=_]
(00 (©) (09: 6l
C——] —— ——] ——]
s
S - Suction port P- Pressure port
Direction of rotation
(view on shaft end)
R - clockwise
L - counter-clockwise
NOISE LEVEL (TYPICAL)
VT6D- 038
75
o~ Inlet pressure 0.9 bar abs
- Viscosity 32 cSt _
3 n = 1000 RPM d-
le) — — n = 1500 RPM _ -
|7 J— Lw = Lp + 8 db (A) _
E _-7
Y LT _—
< -7 —
L 65 ——_ -
T
2
3 /
>
o2
& 0
o
=z
-3
-
55
10 50 100 140 175 210 240

(100) (725) (1500) (2000) (2500) (3000) (3500)

Pressure in bar (psi)

PERMISSIBLE RADIAL LOAD

(409) 1800

(363) 1600

(318) 1400 — ) -
Shaft keyed N° 1

(272) 1200

(227) 1000

(181) 800

(136) 600

(©1) 400

(45) 200

600 1000 1200 1500 1800 2000 2500

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)




*¢ VELJAN

7/16-14 UNCx0.88 DEEP-4 HOLES
(M12x22.3 DEEP)

2.88
1/2-13 UNCx0.94 DEEP 4-HOLES 0.62 (73.2)
(M12x23.9 DEEP) 15.9) =
) 8%1) 217 3.06
1.69 (152,92) - ' (55.2) (77.7)
(42.9) ek 0.31 0.31
Lo (7.9) (7.9)
KEY 0.3126/0.3106
1.50 (7.94/7.89)
(38.1) |/
) _ ( ,),
Q T /
gls +1{— & 3y 5 — - — - =l - -
o> ] i
\ ‘
1] ey PO 0.09x45°
o> 4D ‘ 0.09x45° ’ R E_ 0.09x45° (2.3%45°)
w (2.3x45°) Zls 2§ (2.3x45°)
1 Be 3
i gle Shaft code 3 Shaft code 4
Shaft code 2 SAE C splined shaft no SAE splined shaft
6520-%0 (Keyed no SAE) Class 1-J498b Class 1-J498b
(50.8) 12/24 dp. 14 teeth 12/24 dp. 14 teeth
30° pressure angle 30° pressure angle
flat root side fit flat root side fit
7.28 3.29
(184.9) (83.6)
3.44 _ 150
(87.4) (38.1) 0.50
(12.7)
0.31
7.9 0.25 MAX. KEY 0.3126/0.3106
| | (6.35) (7.94/7.89)
1 1 U
wl@ g ‘ 194 |/ M10x0.79 DEEP
a8 (49.3) /" (200)
- : 28
~[S - gla 28
N 14 - e 2s
z - Qe 8|s
|8 2l
T oels % 8=
0.09x45° || E S
(2.3x45°) -z gI&
H 8e 28
33
__|l_0.05x45°
1.3x45° h 1
MOUNTING TORQUE 138 ft.Ibs ( ) Shaft code Shaft torque limits in3/rev x psi (ml/rev x bar)
(187 Nm) (Keyed SAE C) sh
aft Vp x p max.
1 38299 (43283)
2 30638 (34590)
3 54207 (61200)
4 54207 (61200)
OPERATING CHARACTERISTICS - TYPICAL (24 cST)
Pressure . Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm |
o Series|Displacement Vp, = o bar (0 psifp = 140 bar (2000 psi)|p = 240 bar (3500 psi)| p = 7 bar (100 psi) [ p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
P inrev_| cm3rev | gpm | Ipm | gpm Ipm apm Ipm hp kw hp kw hp kw
014 2.90 47.6 |18.88| 71.4 | 16.42 62.1 14.78 55.9 3.08 2.3 24.81 18.5 41.03 | 30.6
017 3.55 58.2 23.1| 87.3 20.6 78.0 18.99 71.8 3.35 2.5 29.77 22.2 49.62 37.0
020 4.00 66.0 [26.19| 99.0 | 23.73 89.7 22.08 83.5 3.75 2.8 33.39 24.9 55.92 41.7
024 4.80 79.5 [31.56]119.3 [ 29.10 110.0 27.46 103.8 4.02 3.0 39.69 29.6 66.78 49.8
028 5.50 89.7 [35.58[134.5| 33.12 |125.2 31.48 119.0 4.29 3.2 44.52 33.2 74.96 | 55.9
VT6D 031 6.00 98.3 |[39.00|147.5 | 36.53 138.1 34.89 131.9 4.42 3.3 48.54 36.2 81.80 | 61.0
VvT6DQ | 035 6.80 111.0 [44.04|166.5 | 41.58 157.2 39.94 151.0 4.69 3.5 54.58 40.7 92.13 68.7
VT6DN | 038 7.30 120.3 [47.72]180.4 | 45.26 1711 43.62 164.9 4.96 3.7 58.87 43.9 99.64 74.3
042 ! 8.30 136.0 [53.96 | 204.0 | 51.50 194.7 49.86 188.5 5.36 4.0 66.25 49.4 112.24 83.7
045 " 8.89 145.7 [57.80|218.5 | 55.34 209.2 53.70 203.0 5.50 41 70.81 52.8 120.02 89.5
050"?| 9.64 158.0 |62.69 |237.0 | 60.23 | 227.7 59.25 224.0 5.90 4.4 76.44 57.0 113.98 | 85.0
061"¥| 11.62 190.5 |76.25|285.7 | 73.54 | 278.0 - - 6.16 4.6 81.26 60.6 - -

1) 042-045-050-061=2200 RPM max.
2) 050=210 bar (3000 psi) max. int,
3) 061 = 120 bar (1740 psi) max. int, 061 = 80 bar (1160 psi) cont.

Note : Product details are liable to change without notice



HIGH PERFORMANCE VANE PUMP VTG6E

VI6E * - 066 - 3
Series

Y - Metric port connection, Omit for UNC

Cam ring
Volumetric displacement cm3/rev (in3/rev)
042 132.3 (8.07)
045 142.4 (8.69)
050 158.5 (9.67)
052 = 164.8 (10.06)

057 = 180.7 (11.02)
062 = 196.7 (12.00)
066 = 213.3 (13.02)

072 = 227.1 (13.86)
085 = 269.8 (16.46)

Type of shaft
1 - keyed (SAE CC)
2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (SAE CC)

INTERNAL LEAKAGE (TYPICAL)

9.0) 36
— — 10cSt
24 cSt
£ 60 32 ~
o re
S 70 28 >
£
L (60) 24 -
£ -
7
9 (5.0) 20
(¢} -
7 -
%(4,0) 16 — == =
ﬁ b L
o B0 12 > —
©
c (20) 8 -
° -
s P /
£ (10 4
e
P
0
0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500) (2000)  (2500) (3000)  (3500)

(2175) (2700)
Pressure in bar (psi)

HYDROMECHANICAL POWER LOSS (TYPICAL)

- — n=2200rpm
— —— n=1500rpm (24 cSt)
5 |—— n=1000rpm

Power loss Ps (kW)
|
|
|
|

0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500) (2000)  (2500) (3000)  (3500)

©@175)  (2700)

Pressure in bar (psi)

Note : Product details are liable to change without notice

R 00 - A 1 *
L Modifications
Seal class
1-81 (for mineral oil)
4 - 84 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)
Design letter
Porting combination
00 - standard
00 01 02 03
P P-s P P
[ [—=_] [ [—=_]
(0> (0D (o @D
C——] —— ——] ——
s
S- Suction port P- Pressure port
Direction of rotation
(view on shaft end)
R - clockwise
L - counter-clockwise
NOISE LEVEL (TYPICAL)
VT6E - 050
80
« Inlet pressure 0.9 bar abs
- Viscosity 32 cSt
3 n = 1000 RPM
o) — — n = 1500 RPM
n 7 Lw = Lp + 8 db (A) _
£ L —=T
Z P
< -
a e /
z __L-
% /
s /
w 65
°
2 —
-
-l
60
10 50 100 140 175 210 240
(145) (725) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi)
PERMISSIBLE RADIAL LOAD
(818) 3600
(727) 3200 ~ |Fa
Shaft keyed N° 1
(636) 2800
@
=]
= (545) 2400
z
£ (454) 2000
('8
E (363) 1600
o
-
(272) 1200
(181) 800
(91) 400

600 1000 1200 1500 1800 2000 2200

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)




1/2-13 UNCx0.92 DEEP-4 HOLES

(M12x23.4 DEEP)

*¢ VELJAN

5/8-11 UNCx0.94 DEEP 4 HOLES 2.44
(M16x24.0 DEEP) 0.69 (61.9)
(17.5) 220 nis
0.31 . .
1.406
(26.411398) o 7.9 (55.9) (62.2)
: — 0.31 0.31
\ =] (7.9) (7.9)
mh . KEY 0.3126/0.3106
- 1.50 / (7.94/7.89) - =
(38.1)/ ] 1.50 124
7 7| (38.1) 4 (615
8|S sla B .
Qg+ ——— «f- alo — : -
<= alt - -
RS é 0.09x45° 0.09x45°
= £ (2.3x45°) (2.3x45°)
H g3 3k
8 L L
- - ~
- 0.09x45° || Q|2
(2.3x45°) Shaft code 3 Shaft code 4
Shaft code 2 SAE C splined shaft SAE CC splined shaft
(keyed no SAE) Class 1-J498b Class 1-J498b
12/24 dp. 14 teeth 12/24 dp. 17 teeth
30° pressure angle 30° pressure angle
flat root side fit flat root side fit
8.87 3.58
(225.3) (90.9)
4.33 _ 2.06
(110.0) (52.3)
0.50
0.31 (12.7)
(7.9)
0.25 MAX.
p, } | (6.35) KEY 0.375/0.373
g T || (9.52/9.47)
|G 2.00 /
0
ols _‘ (50.8) M10x0.79 DEEP
= (20.0) 5
— r 3|
0 >
RS * </
~N® ——t = == - — - — — 1 — Sl
S - 8|8
EN]
ole SIS 3le
009x45° || 2|8 Z g ~
(2.3x45°) -8 2l =~
3 &«
3 - |
— | P R
/ -
0.05x45°
(1.3x45°) Shaft code 1
MOUNTING TORQUE :13571.::; (keyed SAE CC)
Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max.
1 48273 (54555)
2 30638 (34590)
3 54207 (61200)
4 54207 (61200)

OPERATING CHARACTERISTICS - TYPICAL (24 cST)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|, = 0 bar (0 psi)[p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|p = 7 bar (100 psi)[p = 140 bar (2000 psi)|p = 240 bar (3500 psi)
port in3/rev._| cm3rev | 9pm | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
042 8.07 132.3 | 52.50| 198.5 | 49.87 188.5 47.96 181.3 | 6.97 5.2 66.25 49.4 110.77 | 82.6
045 8.70 142.4 56.51| 213.6 | 53.86 203.6 51.98 196.5 7.24 5.4 70.94 52.9 118.95 88.7
050 9.67 158.5 62.88| 237.7 | 60.24 227.7 58.36 220.6 7.64 5.7 78.45 58.5 131.82 98.3
VT6E 052 10.00 164.8 65.40| 247.2 | 62.75 237.2 60.87 230.1 7.78 5.8 81.53 60.8 136.92 102.1
057 11.02 180.7 71.71] 271.1 | 69.07 261.1 67.19 254.0 8.18 6.1 89.04 66.4 143.35 106.9
062 12.00 196.7 78.04| 295.0 | 75.40 285.0 73.52 277.9 8.58 6.4 96.42 71.9 162.67 121.3
066 13.00 213.3 84.63(319.9 | 81.98 309.9 80.11 302.8 8.98 6.7 104.20 77.7 175.94 | 131.2
072 13.86 227 1 90.11| 340.6 | 87.46 330.6 85.58 323.5 9.25 6.9 110.77 82.6 187.07 139.5
085"?| 16.40 | 269.8 |107.00|404.7 | 10521 | 397.7 - - 978 | 7.3 | 8756 | 65.3 - -

1) 085 = 2000 RPM max. 2) 085 = 75 bar (1100 psi) cont. 085 = 90 bar (1300 psi) max. int.

Note : Product details are liable to change without notice



HIGH PERFORMANCE VANE PUMP VT6CM

VI6CM * - B22 - 1
Series
Y - Metric port connection, Omit for UNC
Cam ring
Volumetric displacement cm3/rev (in3/rev)
“BO3/R0O3 = 10.8 (0.66) BI5/R15 = 50.5 (3.08)
BO5/R05 = 17.2 (1.05) B17/R17 = 58.3 (3.56)
BO6/R06 = 21.3 (1.30) B20/R20 63.8 (3.89)
B0O8/R08 = 26.4 (1.61) B22/R22 = 70.3 (4.29)
B10/R10 = 34.1 (2.08) B25/R25 = 79.3 (4.84)
B12/R12 = 37.1 (2.26) B28/R28 = 88.8 (5.42)
B14/R14 = 46.0 (2.81) B31/R31 = 100.0 (6.10)
*B'- for Mobile
'‘R'- for Mobile - spring assisted
Type of shaft
1 - keyed (SAE B)
2 - keyed (no SAE)
3 - splined (SAE B)
4 - splined (SAE BB)
INTERNAL LEAKAGE (TYPICAL)
65) 24 24 ¢St /
_ — — 10cSt -
€ (552t ¢ =
Qo //
S -
= (5.0) 18 _
=
= (4015 =
- e
8 id
o @012
o Ve —~
g (2.0) 9 -’ .
3 e //
= - LT
S (15) 6
c 7
E // /
£ (10 4
////
0
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000)  (1500)  (2000) (2500) (3000) (3500)  (4000)

(2175) (2700)
Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

HYDROMECHANICAL POWER LOSS (TYPICAL)

- — n=2800rpm
— —— n=1500rpm (24 cSt)

4 n = 1000 rpm
g
=
» 3 —
o -
] Lo
7] -
o - —
- 5 _|— - T _
) -
H L=
g - -

s - ////
1
L —
0
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000)  (1500)  (2000) (2500) (3000) (3500) (4000)

(2175) (2700)

Pressure in bar (psi)

Note : Product details are liable to change without notice

*¢ VELJA

L

Modifications

Seal class

1 - 81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination
00 - standard

00 01 02 03
3 PS P P
[——] [—_] [ =]
& &3 &>
s

S - Suction port P- Pressure port

Load F in N (Lbs)

80

70

65

Lp. Noise level {db(A)} 1M ISO 4412

60

(318) 1400

(272) 1200

(227) 1000

(182) 800

(136) 600

(90) 400

(45) 200

Direction of rotation
(view on shaft end)

R - clockwise
L - counter-clockwise

NOISE LEVEL (TYPICAL)
VT6CM - B22

7%

Inlet pressure 0.9 bar abs
Viscosity 32 cSt

n = 1000 RPM

— — n =1500 RPM

Lw = Lp + 8db (A)

I E— /
10 50 100 140 175 210 240
(100) (725) (1500) (2000) (2500)  (3000)  (3500)

Pressure in bar (psi)

PERMISSIBLE RADIAL LOAD

S S
Shaft keyed N° 1
600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)

Maximum axial load permissible Fa = 800 N (180 Lbs)




*¢ VELJAN

2.29
3/8-16 UNCx 0.75 DEEP-4 HOLES 0.50 58.2)
(M10x19.0 DEEP) =
0.31 1.60
(7.9) : 1.79
40.7
1.41 os1 (40.7) 455)
(7.9) 0.31
(7.9)
1.25 KEY 0.1875/0.1855 -
(31.8) (4.762/4.712)
0.965
/ (24.5)
(S
NS . A L
NS
o . | o.0ex45° __|__o0.06x45°
%»« 58 % (1.5x45°) (1.5x45°)
®a =El=
ol oS
B8 8l
K3 ~
gy ° Shaft code 3 Shaft code 4
= SAE B splined shaft SAE BB splined shaft
Shaft code 2 Class 1-J498b Class 1-J498b
1/2-13 UNCx0.88 DEEP-4 HOLES (Keyed no SAE) 16/32 dp. 13 teeth 16/32 dp. 15 teeth
(M12x22.4 DEEP) 30° pressure angle 30° pressure angle
flat root side fit flat root side fit
6.36 2.81
(161.6) (71.4)
3.24 150
(82.3) (38.1) 038
0.31 ©7) KEY 0.250/0.248
| | (7.9) 0.25 MAX. (6.35/6.30)
1 J 1 l_ (6:35) M8x0.63 DEEP
: ‘ /" (16.0)
8¢ E ' /
S|e —]
S
o
gl@ g2
5|3 8@ g2
S o T 8z g
|5
~ Q2 o=
I P z &
0.06x45° || %|§ g = g
@ (1.5x45°) o|ld g|d SI=
. 2le 2§
oy o=
2l
K 0.05x45° S8
MOUNTING TORQUE 117 ft.lbs T (1.3xa5%)
(159 Nm) Shaft code 1
(Keyed SAE B) Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max.
1 14473 (16500)
2 12666 (14300)
3 18246 (20600)
4 19309 (21821)
OPERATING CHARACTERISTICS - TYPICAL (24 cST)
Pressure _Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
rt Series|Displacement Vp|p = 0 bar (0 psifp = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)| p = 240 bar (3500 psi
po in3/rev cmrev | 9pm | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
B03 0.66 10.8 429| 162 | 2.83 10.7 -- -- 1.74 1.3 7.1 5.3 - -
B05 1.05 17.2 6.83| 25.8 5.37 20.3 4.17 15.8 1.88 1.4 10.06 7.5 16.36 12.2
B06 1.30 21.3 8.44| 31.9 7.01 26.5 5.82 22.0 2.01 1.5 11.94 8.9 19.71 14.7
B08 1.61 26.4 | 10.48| 39.6 | 9.02 34.1 7.83 29.6 | 2.15 1.6 14.35 10.7 22.93 17.7
B10 2.08 34.1 13.52| 51.1| 12.08 45.7 10.89 41.2 2.28 1.7 18.64 13.4 29.90 22.3
B12 2.26 37.1 14.71| 55.6 | 13.28 50.2 12.08 45.7 2.28 1.7 19.31 14.4 32.32 241
VT6CM | 14 2.81 46.0 | 18.25| 69.0 | 16.79 63.5 15.60 59.0 | 2.55 1.9 | 23.60 176 | 3956 | 295
B15 3.08 50.5 20.00| 75.6 | 18.62 70.4 17.46 66.0 2.68 2.0 25.61 19.1 42.91 32.0
B17 3.56 58.3 23.12| 87.4 | 21.69 82.0 20.50 77.5 2.82 2.1 29.37 21.9 49.48 36.9
B20 3.89 63.8 | 25.32| 95.7 | 23.86 90.2 22.67 85.7 | 295 2.2 31.92 23.8 53.91 | 40.2
B22 4.29 70.3 27.88(105.4 | 26.45 100.0 25.26 95.5 3.08 2.3 35.00 26.1 59.14 441
B25" | 4.84 79.3 | 31.46[118.9 | 3002 | 1185 | 2883 | 109.0 | 3.35 25 | 39.16 292 | 66.38 | 495
B28"?| 5.42 88.8 | 35.24|133.2 | 3378 | 1277 | 3203 | 1245 | 3.75 2.8 | 4385 327 | 6504 | 485
B31"?| 6.10 100.0 | 39.68/150.0 | 38.22 144.5 37.38 | 1413 | 3.75 2.8 48.95 36.5 72.95 | 54.4
1) B25-B28-B31 = 2500 R.PM. max. 2) B28-B31= 210 bar (3000 psi) max. int. -- Not to use because internal leakage greater than 50% theoretical flow.

Note : Product details are liable to change without notice



HIGH PERFORMANCE VANE PUMP VT6GC

VI6GC - B22 - 6 R 00 - A 1- 00 -

Series 1 Modifications

Cam ring Mounting W/connection variables
Volumetric displacement cm3/rev (in3/rev) 00 - Flange 1" BSPP

B0O3 = 10.8 (0.66) B15= 50.5 (3.08) 01 - Flange 1" SAE 4 bolts (UNC)
B05 = 17.2 (1.05) B17 = 58.3(3.56) M1 - Flange 1" SAE 4 bolts (METRIC)
B06 = 21.3 (1.30) B20 = 63.8 (3.89)

B08 = 26.4 (1.61) B22 = 70.3 (4.29) —— Sealclass

B10 = 34.1 (2.08) B25 = 79.3 (4.84) 1-s1

B12 = 37.1 (2.26) B28 = 88.8 (5.42)

B14 = 46.0 (2.81) B31 = 100.0 (6.10) Design letter

Type of shaft Porting combination

6 - splined (DIN 5462) 00 - standard

Direction of rotation
(view on shaft end)

00 01 02 03
P P-s P P )
©]
s s L- nter-clockwi
(0> (0> (0w =6 ) counter-clockwise
s

S- Suction port P- Pressure port

(6.5) 24

(5.5) 21

(5.0) 18

(4.0) 15

3.0) 12

(2.0) 9

(15) 6

(1.0) 3

Internal leakage Qs in Ipm (Gpm)

0

Power loss Ps (kW)

Note : Product details are liable to change without notice

INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6GC - B22
80
N
~ Inlet pressure 0.9 bar abs
24 cst - E Viscosity 32 cSt
— — 10cSt _ o n = 1000 RPM
P @ — — n = 1500 RPM
= 7% Lw = Lp + 8 db (A) ey —
- £ P
- - -7
- = L
i 55 -7 —
- 2 7 =
e —~ 3 _ ]
s | —— _ P
= g - -
e T o _ -7
7 — ° =
~ K] 65
e
e / 2 /
4 -3
-
. / 5 /
60
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500)  (1000)  (1500)  (2000) (2500) (3000) (3500) (4000) (145) (725) (1500) (2000) (2500) (3000)  (3500)
(2175) (2700)

Pressure in bar (psi) Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD

(1900) 9000
- — n=2800rpm ==
— —— n=1500rpm (24 cSt) (1800) 8500 F
n = 1000 rpm =
(1700) 8000 =
—_
[7]
o
= (1600) 7500
- +== z
R £ (1500 7000
- w
- — _ — ko]
I —— @ (1400) 6500
= o
-7 — — -
e - (1300) 6000
- |
| (1200) 5500
(1100) 5000
0 35 70 105 140 160 175190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800
(500)  (1000)  (1500) (2000) (2500)  (3000) (3500)  (4000) Speed n (rpm)
(@175)  (2700)
. . I o ) N
Pressure in bar (psi) Life time 3000 hours when 70% of the time at 500 N and 30% at max. load.




HIGH PERFORMANCE VANE PUMP VT6GC

js13

8.484 2.16
. 55.0
2155) (65.0) 0.12x30°
| 3.25 \ 3.62 1.49 (3.0x30°)
‘ (82.6) (92.0) (37.85)
0.08/0.07
N 0.60 |
3 3 15.0) (1.95/1.85) ol ﬁ j @
1.022/1.021 g|s
o (25.96/25.95) == : _
S [ gy
— g % N o
Q|4 512
®|o - —_
\/ 2@ 2|18 N ~|2
Jlo (o g
Ao == _ (2 L 4 0l
3le
i =2 ~e
: g2 g
F p i e glg \00323/0.316 T
0.35 L (8.20/8.05) N f 4
0.0 =& 1.57 1.57 20.55
MOUNTING TORQUE 117 ft.lbs 1.45 ®|s : — ;
(159 Nm) 36.9) @ g (40.0) (40.0) (14.0)
o= 4.63
DRAIN HOLE BETWEEN TWO SHAFT SEALS Shaft code 6 (117.6)
(DIN 5462) B8x32x36
3/8-16 UNCx0.75 DEEP-4 HOLES
(M10x19.0 DEEP)
1/2-13 UNCx0.9 DEEP-4 HOLES
(M12x22.4 DEEP)
1.41 1.031
35.8
(35.8) (26.2) CODE 00
B! o) )
_ ‘ _ ==F
oo |
e -yl | SESECaEE: I -
‘ ==E
(N[ @
g 9/
21.50 (25.4)
(38.1)
OPERATING CHARACTERISTICS - TYPICAL (24 cST)
Pressure _ Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm |
@ Series|Displacement Vp|p = 0 bar (0 psi)|p = 140 bar (2000 psi)[p = 240 bar (3500 psi)| p = 7 bar (100 psi)| p = 140 bar (2000 psi)|p = 240 bar (3500 psi)
po intrev | cme/rev | gpm | Ipm | gpm ipm | gpm pm | hp [ kw | hp kw hp kw
B03 0.66 10.8 429| 16.2 2.83 10.7 - -- 1.74 1.3 711 5.3 -- -
B05 1.05 17.2 6.83| 25.8 5.37 20.3 4.17 15.8 1.88 1.4 10.06 7.5 16.36 12.2
B06 1.30 21.3 8.44| 319 7.01 26.5 5.82 22.0 2.01 1.5 11.94 8.9 19.71 14.7
B08 1.61 26.4 10.48| 39.6 9.02 34.1 7.83 29.6 2.15 1.6 14.35 10.7 22.93 17.7
B10 2.08 34.1 13.52| 51.1| 12.08 45.7 10.89 41.2 2.28 1.7 18.64 13.4 29.90 22.3
B12 2.26 37.1 14.71| 55.6| 13.28 50.2 12.08 45.7 2.28 1.7 19.31 14.4 32.32 241
VT6GC | Bi4 2.81 460 |18.25| 69.0| 16.79 63.5 | 15.60 59.0 | 2.55 19 | 2360 | 176 39.56 | 295
B15 3.08 50.5 20.00| 75.6| 18.62 70.4 17.46 66.0 2.68 2.0 25.61 19.1 42.91 32.0
B17 3.56 58.3 23.12| 87.4| 21.69 82.0 20.50 77.5 2.82 21 29.37 21.9 49.48 36.9
B20 3.89 63.8 25.32| 95.7| 23.86 90.2 22.67 85.7 2.95 2.2 31.92 23.8 53.91 40.2
B22 4.29 70.3 27.88| 105.4 | 26.45 100.0 25.26 95.5 3.08 2.3 35.00 26.1 59.14 441
B2s" | 4.84 79.3 |31.46|118.9| 30.02 1135 | 28.83 109.0 | 3.35 25 | 39.16 29.2 66.38 | 49.5
B2g8"”| 5.42 88.8 |35.24|133.2| 33.78 | 1277 | 3203 | 1245 | 375 | 2.8 | 4385 | 32.7 65.04 | 485
B31"?| 6.10 100.0 39.68 | 150.0 | 38.22 144.5 37.38 141.3 3.75 2.8 48.95 36.5 72.95 54.4
1) B25-B28-B31 = 2500 R.PM. max. 2) B28-B31= 210 bar (3000 psi) max. int. -- Not to use because internal leakage greater than 50% theoretical flow.

Note : Product details are liable to change without notice -




HIGH PERFORMANCE VANE PUMP VT6CP

VI6CP - B22 - 2
Series T
Cam ring

Volumetric displacement cm3/rev (in3/rev)

*B14/R14 = 46.0(2.81)
B15/R15 = 50.5 (3.08)
B17/R17 = 58.3 (3.56)
B20/R20 = 63.8 (3.89)
B22/R22 = 70.3 (4.29)
B25/R25 = 79.3 (4.84)
B28/R28 = 88.8 (5.42)
B31/R31 = 100.0 (6.10)

* B~ for Mobile
'‘R'- for Mobile - spring assisted

Type of shaft
2 - keyed (no SAE)
3 - splined (SAE C)

X - splined
INTERNAL LEAKAGE (TYPICAL)
(6.5 24
24 cSt e
—_ — — 10cSt -
E (6521 =
S e
(S 7
= (5018
£ -
2
= (40)15 =
- s
7
(¢} d
© (3.0) 12
o Ve —~
[ e -
€ o9 <
(7] e //
= - | —
© (15 6
c -
E e - /
£ (10 4
s /
Z
0
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000)  (1500)  (2000) (2500) (3000) (3500) (4000)
(2175) (2700)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

HYDROMECHANICAL POWER LOSS (TYPICAL)

- — n=2800rpm
— — n=1500rpm (24 cSt)

4 n = 1000 rpm
s
3
=
[ 3 —
o e
7] — - 7
» -
) - =
= s _ = — i
s L=
) = [
a - L

1

—
0
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000)  (1500)  (2000) (2500) (3000) (3500) (4000)
(2175) (2700)

Pressure in bar (psi)

Note : Product details are liable to change without notice

R 00 - A 1 *
L Modifications
Seal class
1-81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)
—— Design letter
Porting combination
00 - standard
00 01 02 03
P P-S P P
[—=_] [ [—=_] [
(0> (©> (O®s 60D
C——] —— ——] —
s
S - Suction port P- Pressure port
Direction of rotation
(view on shaft end)
R - clockwise
L - counter-clockwise
NOISE LEVEL (TYPICAL)
VT6CP - B22
80
N Inlet pressure 0.9 bar abs
I Viscosity 32 cSt _
< n = 1000 RPM P
o — — n = 1500 RPM e
@« s Lw = Lp + 8.db (A) —
—~
= -
- -
= —7
< - _—
S 70 ——
- - /
% //
- I
@ 65
o
=z
-3
-
60
10 50 100 140 175 210 240
(100) (725) (1500) (2000) (2500)  (3000) (3500)
Pressure in bar (psi)
PERMISSIBLE RADIAL LOAD
(318) 1400 —
(272) 1200 Fa
I Shaft keyed N° 2
g (227) 1000
=z
£ (182) 800
w
H
(136) 600
S
(90) 400
(45 200

600 1000 1200 1500 1800 2000 2500 2800
Speed (rpm)

Maximum axial load permissible Fa = 800 N (180 Lbs)




HIGH PERFORMANCE VANE PUMP VT6CP

2.88
M1 2x(()2.283)DEEP-4 HOLES 0.59 73.2)
- (15.0) 0.31
M14x0.94 DEEP-4 HOLES | T (7.9)
24.0
(24.0) 169 1.19
(42.9) (30.2) | /1.
B 1.50 KEY 0.3126/0.3106
@a1) (7.94/7.89)
M8x0.63 DEEP
(16.0)
© /
S - .
™
o~ ,
oevas | IR Z
(1.5x45°) § g 2 R‘
g% g
]|
-~ 0.05x45°
21.25/ (1.3x45%
(31:8) - Shaft code 2
Keyed no SAE
MOUNTING TORQUE 117 ft.lbs (Keyed no SAE)
(159 Nm)
6.46 2.19
(164.0) (55.6)
A 3.44 1.50
(87.5) (38.1) 0.50
(12.7)
031 _| |
7.9) 0.25 MAX
|
(6.35)
|
i \ L
j -
& M 1.50
0| © \
da ! £ (38.0)
\ \ 2|8
o G. ' g %
S|y | Bl =Y
o2 - === e O — a——al s g5 —
\ gl
‘ ! A=
| J i
- ‘ i 0.00x45° ||
-1 L i (2.3x45°)
- | #
J i
010 /| [
(4.8)
Shaft code 3

DRAIN HOLE BETWEEN DOUBLE SHAFT SEALS

SAE C splined shaft
Class 1-J498b
12/24 dp. 14 teeth
30° pressure angle
flat root side fit

OPERATING CHARACTERISTICS - TYPICAL (24 cST)

*¢ VELJA

2.80
(71.36)
0.31
(7.9)
I 2.00
1 (50.8)
L 1.00,
(25,4) +0.19(0.5)
0.19
30"3 (5.0)
AN
4 - | — A+
R0.26 33
(6.8) S k]
] eg
§
Shaft code X

ASAE spline shaft dec. 1996
Class 1-J498b

16/32 dp. 21 teeth

30° pressure angle

flat root od fit/type 2

PLASTIC PLUG

8.36
(212.9)
7.13
(181.0)
‘ 3.56
| (90.5)

20.69

(17.5)

R2.76
(70.0)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
t Series|Displacement Vp/p = 0 bar (0 psi)[p = 140 bar (2000 psifp = 240 bar (3500 psi)|p = 7 bar (100 psi)[ p = 140 bar (2000 psi)[p = 240 bar (3500 psi)

por in3/rev cmi/rev | 9pm | Ipm gpm Ipm | gpm Ipm hp kw hp kw hp kw
B14 2.81 46.0 | 18.25| 69.0 | 16.79 63.5 | 15.60 59.0 255 | 1.9 | 23.60 17.6 39.56 29.5

B15 3.08 50.5 | 20.00| 75.6 | 18.62 70.4 | 17.46 66.0 268 | 20 25.61 19.1 42.91 32.0

B17 3.56 58.3 | 23.12| 87.4 | 21.69 82.0 | 20.50 775 282 | 241 29.37 21.9 49.48 36.9

VT6CP B20 3.89 63.8 | 25.32| 95.7 | 23.86 90.2 | 22.67 85.7 295 | 22 | 31.92 23.8 53.91 40.2
B22 4.29 70.3 | 27.88[105.4 | 26.45 | 100.0 | 25.26 95.5 308 | 23 | 3500 26.1 59.14 44.1

B2s" | 4.84 79.3 | 31.46(118.9 | 3002 | 1135 | 2883 |109.0 335 | 25 | 3916 | 292 | 66.38 | 495

B28"*| 542 88.8 | 3524|1332 | 33.78 | 127.7 | 32.93 [1245 375 | 2.8 | 4385 | 827 | 6504 | 485

B31"?| 6.10 100.0 | 39.68(150.0 | 38.22 | 1445 | 37.38 |141.3 375 | 28 | 4895 36.5 72.95 54.4

1) B25-B28-B31 = 2500 R.PM. max.

2) B28-B31 = 210 bar (3000 psi) max. int.

Note : Product details are liable to change without notice




HIGH PERFORMANCE VANE PUMP VT6DM

VIeD * * * - B45 - 1
Series
N - Shaft seal installed reverse
Q - Special mounting cap with ear
orientation of 20° from standard
M= Mobile 1 shaft seal
P= Mobile 2 shaft seal
Y - Metric port connection (not for code 'Q')
Omit for UNC
Cam ring
Volumetric displacement cm3/rev (in3/rev)
*
B14/R14 = 47.6 (2.90) B35/R35 = 110.0 (6.77)
B17/R17 = 58.2 (3.55) B38/R38 = 120.3 (7.34)
B20/R20 = 66.0 (4.03) B42/R42 = 136.0 (8.30)
B24/R24 = 79.5 (4.85) B45/R45 = 145.7 (8.89)
B28/R28 = 89.7 (5.47) B50/R50 = 158.0 (9.64)
B31/R31 = 98.3 (6.00) B61/R61 = 190.5 (11.62)
*B'- for Mobile 'R'- for Mobile - spring assisted
Type of shaft
M version P version
1 - keyed (SAE C) 3 - splined (no SAE)
2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (no SAE)
T - splined (SAE J718c)
INTERNAL LEAKAGE (TYPICAL)
(8.0) 32
— — 10 ¢St
3 —— 24cst -
g (7.0) 28 -z
S -
£ (6.0) 24 -
= -
£ 50 20 -
8 '
7
%(4.0) 16 _ -
= (3.0) 12 - ~
o™ g L
s - ]
£ (20 8 _
% e /
= (1.0) 4 _
7
Z
0
0 35 70 1056 140 160 175 190 210 240
(500) (1000) (1500) (2000) (2500) (3000) (3500)
(2175) (2700)
Pressure in bar (psi)
HYDROMECHANICAL POWER LOSS (TYPICAL)
6
- — n = 2400 rpm
— —— n=1500rpm (24 cSt)
n = 1000 rpm
5
g . T e -
0
[
@ s
o
]
E 2 = D
a e | __—
1 |
0
0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500) (2000)  (2500) (3000)  (3500)
(2175) (2700)

Pressure in bar (psi)

Note : Product details are liable to change without notice

Load F in N (Lbs)

*¢ VELJA

} 00 -C 1 *
L Modifications
Seal class
1-81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)
——— Design letter
Porting combination
00 - standard
00 01 02 03
P P-S P P
[—=] [—=_] [ =]
({0 (O (0o @0
C——] ——] —— ——]
s
S - Suction port P- Pressure port
Direction of rotation
(view on shaft end)
R - clockwise
L - counter-clockwise
NOISE LEVEL (TYPICAL)
VT6DM- B38
80
o~ Inlet pressure 0.9 bar abs
; Viscosity 32 cSt
< n = 1000 RPM
o) — — n = 1500 RPM _
[ Lw = Lp + 8 db (A) | =
£ -
- — T
= -7
< ——7]
a — /
\.-?.- ~——__ -
3 ) /
H —
Q
L] 65
2 —
[-%
-
60
10 50 100 140 175 210 240
(100) (725) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi)
PERMISSIBLE RADIAL LOAD
(409) 1800 ‘ ‘
(363) 1600
.. _|.Fa
(318) 1400
Shaft keyed N° 1
(272) 1200
(227) 1000
(181) 800
(136) 600
(91) 400
(45) 200

600 1000 1200 1500 1800 2000 2500

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)




7/16-14 UNCx0.88 DEEP-4 HOLES

(M12x22.3 DEEP)

*¢ VELJAN

2.88
1/2-13 UNCx0.94 DEEP4-HOLES 0.62 (73.2)
(M12x23.9 DEEP) (15.7)
. 0.31 217 3.06
1.188 (7.9) (55.2) (77.7)
1.688 (30.2) —1 E
(42.9) 1., 031 |, 031
_ (7.9) 7.9
,,,,,, - KEY 0.3126/0.3106 9
1.50 (7.94/7.89)
(38.1) |/
NN <
© - i . ~— L N - — —
=S i3 «
% { 0.09x45°
0.09x45° 3g 2 0.09x45° T (2.3x45%)
(2.3x45°) o @ N (2.3x45°)
Sla 38
o~ =
—_— 0.05x45° sls Shaft code 3 Shaft code 4
©2.00 / / \ L (1'.3)(450) SAE C splined shaft no SAE splined shaft
(50'.3) 6311'285 — Class 1-J498b Class 1-J498b
(61.8) Shaft code 2 12/24 dp. 14 teeth 12/24 dp. 14 teeth
MOUNTING TORQUE 138 ft.Ibs (Keyed no SAE) 30° pressure angle 30° pressure angle
(187 Nm) flat root side fit flat root side fit
7.28 3.29
(184.9) (83.6) 8.365
‘ 3.44 1.50 (212.4)
(87.4) (38.1) 0.50 7.125
(12.7) ({181.0)
0.31 3.563
(7.9) 0.25 MAX. KEY 0.3126/0.3106 505)
i i (6.35) (7.94/7.89) -
; -
olE S 194 |/ M10x0.79 DEEP
Q| o (49.3) (20.0)
™| .
- L 2(8 )
(&}
ol ge 8
‘= I | ’ 82 gs
91N
ol 5% SIES -/ o
Sy 2 g
0.09x45° || é 2 ali
I~ (2.3x45°) Q~ «fg
6 5 |~
Shaft code 1
(Keyed SAE C)
Shaft torque limits in3/rev x psi(ml/rev x bar), (:535) 0.34
Shaft Vp x p max. W
1 38299 (43283) 0.50 ’ 0.34/0.33
2 30638 (34590) 12.7) 1.00 B64/858) |1
3 54207 (61200) @59 | ,,
4 54207 (61200) 70
Shaft code 3 B ECs
no SAE splined shaft —~
Class 1-J498b { X 8=
12/24 dp. 14 teeth — % =3
30° pressure angle (2-3x45§ gi1114%1708% - 3|5
flat root side fit (28. -89) Q §
7 oo Shaft code T
-4 VT6DP SAE J718C
Drain hole between double shaft seals (10.3)

540 rpm power take-off
For Farm Tractor application

OPERATING CHARACTERISTICS - TYPICAL (24 cST)

Pressure Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|p = 0 bar (0 psi)]p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)| p = 240 bar (3500 psi)

port indrev_| cm3rev | 9gpm | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
B14 2.90 47.6 | 18.88| 71.4| 16.42 62.1 14.78 55.9 3.08 | 2.3 24.81 18.5 41.03 30.6
B17 3.55 58.2 23.1] 87.3| 20.6 78.0 18.99 71.8 335 | 25 29.77 22.2 49.62 37.0
B20 4.00 66.0 | 26.19| 99.0 | 23.73 89.7 22.08 83.5 375 | 2.8 33.39 24.9 55.92 41.7
B24 4.80 79.5 | 8156|1193 | 29.10 | 110.0 27.46 | 103.8 4.02 | 3.0 39.69 29.6 66.78 49.8
B28 5.50 89.7 | 3558|1345 | 33.12 | 125.2 31.48 | 119.0 429 | 3.2 44.52 33.2 74.96 55.9
VT6DM B31 6.00 98.3 | 39.00|147.5| 36.53 138.1 34.89 131.9 4.42 3.3 48.54 36.2 81.80 61.0
VT6DP | B35 6.80 111.0 | 44.04[166.5| 41.58 | 157.2 39.94 | 151.0 469 | 35 54.58 40.7 92.13 68.7
B38 7.30 120.3 | 47.72|180.4 | 45.26 1711 43.62 | 164.9 496 | 37 58.87 43.9 99.64 74.3
Ba2"” 8.30 136.0 | 53.96[204.0 | 51.50 | 194.7 49.86 | 188.5 536 | 4.0 66.25 49.4 112.24 83.7
B45" 8.89 145.7 | 57.80[218.5 | 55.34 | 209.2 53.70 | 203.0 550 | 4.1 70.81 52.8 120.02 89.5
B50"%| 9.64 158.0 | 62.69[237.0 | 60.23 | 227.7 59.25 | 224.0 590 | 4.4 76.44 57.0 113.98 85.0

Be1 " 11.62 190.5 | 76.25/285.7 | 73.54 | 278.0 - - 6.16 | 4.6 81.26 60.6 - --

1) B42-B45-B50-B61=2200 RPM max. 2) B50=210 bar (3000 psi) max. int, 3) 061 = 120 bar (1740 psi) max. int, 061 = 80 bar (1160 psi) cont.

Note : Product details are liable to change without notice



HIGH PERFORMANCE VANE PUMP VT6EM

VI6E * *- 066 - 3 R

coris T ‘ i

M= Mobile 1 shaft seal

P= Mobile 2 shaft seal Seal class
1-S1 (for mineral oil)

4 - S4 (for fire resistant fluids)

1

(-]
1

-t

Modifications

Y - Metric port connection, Omit for UNC

Cam ring 5 - S5 (for mineral oil and fire resistant fluids)
Volumetric displacement cm3/rev (in3/rev)
*042/R42 = 132.3 (8.07) Design letter

045/R45 = 142.4 (8.69)

050/R50 = 158.5 (9.67) Porting combination

052/R52 = 164.8 (10.06) 00 - standard

057/R57 = 180.7 (11.02)
062/R62 = 196.7 (12.00)

00 o1 02 03
P P-S P P
066/R66 = 213.3 (13.02) —e— —e— o B = B
072/R72 = 227.1 (13.86) @ @ 5 s
S

085/R85 = 269.8 (16.46)

'‘R'- for Mobile - spring assisted S- Suction port P- Pressure port
Type of shaft
M version P version Di_rection of rotation
1- keyed (SAE CC) 3 - splined (no SAE) (view on shaft end)
2 - keyed (no SAE) R - clockwise

3 - splined (SAE C) L - counter-clockwise

4 - splined (SAE CC)
T - splined (SAE J718c)

INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6EM - 050
(9.0) 36 85
T ;2 °§: N Inlet pressure 0.9 bar abs
E 8.0) 32 ¢ — < Viscosity 32 cSt
s - i n = 1000 RPM
S (7.0) 28 8 80 — — n = 1500 RPM
e
£ - Lw =Lp + 8db (A)
8 60 24 - E -
£ - = _——T
@ (5.0) 20 < < -
° Pid g —
[ - -
4.0
o (40 16 = - -7 ]
< - L — g - /
8o e — 2 -
K] - | 8 w [ ——
c (20 8 k]
= [<]
2 Ve - / =z
£ (0 4 - s /
- z —
0 65
0 35 70 105 140 160 175 190 210 240 10 50 100 140 175 210 240
(500) (1000) (1500) (2000)  (2500) (3000)  (3500) (145) (725) (1500) (2000) (2500) (3000) (3500)
(2175)  (2700) . .
. . Pressure in bar (psi)
Pressure in bar (psi)
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
(818) 3600
6
- — n=2200 rpm (727) 3200 Fa
— —— n=1500 rpm (24 cSt) C s e
5 n = 1000 rpm Shaft keyed N° 1
B (636) 2800
— S E
R == o (545) 2400
- =z
7]
a i £ (454) 2000
g 3 e — —— =T w
< T @63 1600
) I B o
3 2 — -
o - (272) 1200
a
4 (181) 800
©1) 400
0
0 35 70 105 140 160 175 190 210 240 600 1000 1200 1500 1800 2000 2200
(500) (1000) (1500) (2000)  (2500) (3000)  (3500) Speed
(175) (2700 peed n (rpm)

. . Maximum permissible axial load Fa = 2000 N (449 Lbs)
Pressure in bar (psi)

Note : Product details are liable to change without notice



*¢ VELJAN

1/2-13 UNCx0.92 DEEP-4 HOLES
(M12x23.4 DEEP)

5/8-11 UNCx0.94 DEEP 4 HOLES ((25'143)
0.69 :
(M16x24.0 DEEP) (7.9
0.31 2.20 245
2.438 1.406
©19) @5.7) 9 o9 o
— 0.31 0.31
\ I 11 (7.9) (7.9)
H R KEY 0.3126/0.3106
C I 1.50 (7.9477.89) u B
o ] ~@en) ] 1.50 1 1.24
\ / 7| (38.1) A [Ta15
L~ '
ol 8la
1P S| _ L . N —
32T - 1 IS § é
ol | c.osxase | oosas
LS E ) (2.3x45°) (2.3x45°)
Z|® ~
H gle g3 Z_ [_
s M
d - oosas | glg 7T Shaft code 3 Shaft code 4
T (2.3x45°) SAE C splined shaft SAE CC splined shaft
— Class 1-J498b Class 1-J498b
12/24 dp. 14 teeth
Shaft code 2 . P I 12/24 dp. 17 teeth
30° pressure angle 30° pressure angle
(keyed no SAE) e
flat root side fit flat root side fit
8.87 3.58 8.386
(225.3) (90.9) (213.0)
4.33 2.06
, 7.125
(110.0) (52.3) 0.50 (181.0)
0.31 (12.7) 3.563 25.81
~——‘ 147.6
(7.9) 0.25 MAX. (005) (o)
} ] (6.35) KEY 0.375/0.373
|

é /" (9.52/9.47)
N—
2.00
E* (50.8) /Mw?:d?g) o

3.88
(98.6)

218
o|E ®|©
o I AT | —
z 8|e
~
ol S gl
oooase | BB & si=
(2.3x45%) =ls Zlg
a» S|a o — 1
— Bl= <g
g TI=
ale
0.05x45°
MOUNTING TORQUE 138 ft.lbs T (1.3xa59) Shaft code 1
(187 Nm) (keyed SAE CC)
2.44
(62.0)
0.31
Shaft torque limits in%/rev x psi (ml/rev x bar, (7.9) 0.09x45°
Shaft Vp x p max. — (2'_3)(450) R0.26
1 48273 (54555) 150 (6.8) 0.34/0.33
2 30638 (34590) (38.0) 0.27 (8.64/8.58)
3 54207 (61200) (7.0) |
4 54207 (61200) QQ :
T 62356 (70400) VT6EP o)) -
Shaft code 3
no SAE splined shaft ©lS
2
Class 1-J498b 1.107/1.098 “'_’ ;";
12/24 dp. 14 teeth [_ (28.14/27.89) NS
30° pressure angle 5 <
021 . flat root side fit Shaft code T e
5.3) SAE J718C
Drain hole between double Shaft seals 410 ot T (el
For Farm Tractor application
OPERATING CHARACTERISTICS - TYPICAL (24 cST)
Pressure _Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
t Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)[p = 240 bar (3500 psi)
por int/rev | cmyrev | gpm| Ipm | gpm | Ipm gpm | Ipm hp [ kw hp kw hp kw
042 8.07 132.3 52.50| 198.5 | 49.87 188.5 47.96 181.3 6.97 52 66.25 49.4 110.77 82.6
045 8.70 142.4 56.51| 213.6 | 53.86 203.6 51.98 196.5 7.24 5.4 70.94 52.9 118.95 88.7
050 9.67 158.5 62.88| 237.7 | 60.24 227.7 58.36 220.6 7.64 5.7 78.45 58.5 131.82 98.3
VT6EM 052 10.00 164.8 65.40| 247.2 | 62.75 237.2 60.87 230.1 7.78 5.8 81.53 60.8 136.92 102.1
VT6EP 057 11.02 180.7 71.71| 271.1| 69.07 261.1 67.19 254.0 8.18 6.1 89.04 66.4 143.35 | 106.9
062 12.00 196.7 78.04| 295.0 | 75.40 285.0 73.52 277.9 8.58 6.4 96.42 71.9 162.67 121.3
066 13.00 213.3 84.63|319.9 | 81.98 309.9 80.11 302.8 8.98 6.7 104.20 77.7 175.94 | 131.2
072 13.86 2271 90.11| 340.6 | 87.46 330.6 85.58 323.5 9.25 6.9 110.77 82.6 187.07 | 139.5
085"?| 1640 | 269.8 [107.00|404.7 | 10521 | 397.7 - - 978 | 73 | 8756 | 653 - -
1) 085 = 2000 RPM max. 2) 085 = 75 bar (1100 psi) cont. 085 = 90 bar (1300 psi) max. int.

Note : Product details are liable to change without notice



HIGH PERFORMANCE VANE PUMP VT7B /VT7BS

VI7ZBorVI7BS - B10 - 1 R MO -

Series —L
Modifications

VT7B series-100 A2 HW

I1SO 2 bolts 3019-2 mounting flange
VT7BS series- SAE B 2 bolts
Mounting flange J744 4 bolts SAE flange (J518C)

Camring UNC METRIC
VT7BS |VT7B-VI7BS

-]
-

Mounting W/connection variables

Volumetric displacement cm3/rev (in3/rev) 00 01 MO M
B02 = 5.7 (0.35) B09 = 28.0 (1.71) ) 1 {s/an | 1" |/
B0® = 9.8 (0.60) B10 = 31.8(1.94) S 11/2"

B04 = 12.8 (0.78) B11 = 34,9 (2.13)

B05 = 15.9 (0.97) B12 = 40.9 (2.50) —— Sealclass

B06 = 19.8 (1.21) B14 = 45.1 (2.75) 1 - 81 (for mineral oil)

B07 = 225(1.37) B15 = 50.0 (3.05) 4 - 84 (for fire resistant fluids)

B08 = 24.9 (1.52)
Type of shaft VT7B-VT7BS
2 - Keyed (ISO R775)

Type of shaft VT7BS
1 - Keyed (SAE B) Porting combination
3 - Splined (SAE B) 00 - standard

4 - Splined (SAE BB)

00 o1 02 03
P P-s P P
Direction of rotation (view on shaft end) @ s s
R - clockwise — — — —
S

L - counter-clockwise

5 - 85 (for mineral oil and fire resistant fluids)

———————————— Design letter

S - Suction port P - Pressure port

INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT7B-B10
(20) 8 N 65
) - — — 10cSt ; Inlet pressure 0.9 bar abs
g_ 24 cSt _ - < Viscosity 32 cSt L
2 o n = 1200 RPM -
E (15 6 - 2} - — — n=1800 RPM -
[ _ £ Lw = Lp + 8 db (A) _ - /
c - = _
= ~ 60 —
8 - - g N e -
(10) 4 = Qo N -
% P — 3 N N _ -
X e — ) N7
8 g _— g s
g 092 - 2 -
£ e ] 2 —
o ~ / 4
£ -1 .
— [N
0 O 50
0 35 70 105 140 175 210 240 275 310 0 35 70 105 140 175 210 240 275 310
(500)  (1000) (1500)  (2000) (2500)  (3000)  (3500)  (4000)  (4500) (500)  (1000) (1500)  (2000) (2500) (3000)  (3500)  (4000) (4500)
Pressure in bar (psi) Pressure in bar (psi)
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
- —— n=23000rpm
3 | — — — n=1800rpm (24 cSt) —— (300) 1335
n = 1200 rpm -
—
- - | Fe
= (250) 1100 - Shaft keyed N° 1
= -
A
g - 2
~ 2 = — —1 (200) 900
£ - -1 =z
” _ - =
] =7 £
o —= . (150) 660
B — -T
5 - o
H - - 8
— - -
[ 1 - — (100) 440
- //
Sl (50) 222
//
0 0
0 35 70 105 140 175 210 240 275 310 600 1200 1800 2400 3000 3600

(500)  (1000) (1500)  (2000) (2500) (3000)  (3500)  (4000) (4500) Speed n (rpm)

Pressure in bar (psi) Maximum axial load permissible Fa = 800 N (180 Lbs)

Note : Product details are liable to change without notice -




*¢ VELJAN

2.76
Ax0.75 DEEP-4 HOLES (701)
(19.0)
0.50 VT7B
Bx0.88 DEEP-4 HOLES (12.7)
(22.4) 0.39 1.60 1.80
1.41 c 9.9) (40.6) (45.7)
(35.8)
|, 031 ., 031
— - KEY 0.315/0.276 . :
N /" (8.00/7.00)
1.57
(39.8)
ol
= A
©|2 ) ol 3 —
NS B 5|2 ) 4 nh ;
~ el (<] q 4
2|3
alg % = 0.06x45° 0.06x45°
006x45° | &% | (1.5x45°) (1.5x45%)
(1.5x45°) Qo [N
B8 rlw
o5 Cla
} 0.08x45° gla Shaft code 3 Shaft code 4
|| (2-0x45%) Shaft code 2 SAE B splined shaft SAE BB splined shaft
@1.50 _ (Keyed ISO R775) Class 1-J498b Class 1-J498b
38.1) &35) 4 16/32 dp. 13 teeth 16/32 dp. 15 teeth
) 30° pressure angle 30° pressure angle
T 16é‘8534) (3'182) flat root side fit flat root side fit
3.24 1.50 ( 167.375)
82.3 38.1 -
©2.3) ©8.1) 0.3;3 VT7BS E
0.31 ©n
(7.9)
OG'ZSSMAX KEY 0.250/0.248
_ — ||| ©3%) (6.35/6.30)
H (;:(1’) M8x0.63 DEEP
) (16.0)
»|®
o|wQ
o8 OO N P
s R | & g S . 22 3=
. 3|2
— <& z
| 0.06x45° || %|& 3 .
|| (1.5x45°) Sl «|&
e oy
- [— - g q o=
0.05x45° Q8
\ (1.3x45°)
MOUNTING TORQUE 138 ft.lbs Shaft code 1
(180 Nm) (Keyed SAE B)
VT7BS VT7B
o | o1 Mo M1
A 3/8-16 UNC M10
B 1/2-13 UNC M12
c 1.03(26.2) | 0.874(22.2) | 1.03(26.2) 0.874 (22.2)
D 2.06 (52.4) 1.874 (47.6) 2.06 (52.4) 1.874 (47.6) Shaft torque limits in3/rev x psi (ml/rev x bar)
OE | 1.00(25.4) | 0.75(19.05) | 1.00 (25.4) 0.75 (19.05) Shaft Vp X p max.
F 5.75 (146.0) 5.51 (140.0) ; 1;212 gg;g;
G 2.87 (73.0) 2.75 (70.0) & 18246 (20620)
OH 0.56 (14.3) 0.55 (14.0) 4 18246 (20620)

OPERATING CHARACTERISTICS - TYPICAL (24 cST)

Pressure Volumetric Flow g & n = 1800 rpm Input power p & n = 1800 rpm
Series|Displacement Vp|, = 0 bar (0 psi)[p = 140 bar (2000 psi)|p = 320 bar (4650 psi)| p = 7 bar (100 psi) |p = 140 bar (2000 psi)p = 320 bar (4650 psi)
port in/rev| cmé/rev| gpm| Ipm | gpm Ipm gpm Ipm hp kw hp kw hp kw
B02 0.35 5.7 2.76| 10.4| 233 8.8 1.73 6.5 0.74 | 0.55 4.02 2.99 8.59 6.40
BO3 0.60 9.8 466| 17.6| 4.23 15.9 3.70 13.7 0.85 | 0.63 6.24 4.65 | 13.75 [10.25
B04 0.78 12.8 6.09| 23.0| 5.66 21.4 5.06 19.2 0.94 | 0.70 7.90 589 | 17.62 |13.13
BO5 0.97 15.9 7.56| 286 7.13 26.9 6.53 24.7 1.02 | 0.76 9.62 717 | 2162 |16.12
BO6 1.21 19.8 9.42| 35.6| 8.99 33.9 8.39 31.7 113 | 0.84 11.79 8.79 | 26.66 | 19.88
BO7 1.37 225 |10.70| 40.4 | 10.27 38.8 9.67 36.5 1.20 | 0.89 13.29 9.91 | 30.14 |22.47
V7B BO8 1.52 249 |11.84| 447 | 11.41 43.1 10.81 40.9 127 | 0.94 14.62 | 10.90 | 3324 |24.78
VI7BS 5y 1.71 28.0 | 13.31| 50.3 | 12.87 486 | 12.28 46.4 1.36 | 1.01 16.35 | 1219 | 37.25 |27.77
B10 1.94 31.8 | 15.12| 57.2| 14.69 555 | 14.09 53.4 1.46 | 1.11 18.45 | 13.75 | 42.14 |31.42
B11 ”| 2.13 349 |16.64| 62.9| 16.19 61.2 15.61 59.0 155 | 1.15 20.17 | 15.04 | 4322 |32.22
B12 | 250 409 |19.50| 73.7| 19.07 721 | 18.54 70.1 172 | 1.28 2355 | 17.56 | 50.58 | 37.71
B14 "| 2.75 451 |21.40| 80.8 | 20.95 79.2 | 20.37 77.0 1.83 | 1.36 25.80 | 19.23 | 55.48 |41.37
B15 "| 3.05 50.0 |23.78| 89.8| 23.35 88.3 | 22.88 86.5 1.97 | 147 2855 | 21.28 | 57.35 | 42.76

Note : Product details are liable to change without notice

1) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm




HIGH PERFORMANCE VANE PUMP VT7QC

VI7QC 1 - 022 - 1 R

Series L Modifications
Mounting Mounting W/connection variables
UNC METRIC
1-
SAEB 00 | o1 MO | M1
2-SAEC P T e | 1 |5/
S 11/2"
Camring
*(Delivery@Obar&1500 rpm) . Seal cl
003/B03/Y0® = 16.21/min 015/B15/Y15 = 75.1 I/m!n 1-81 (for mineral oil
005/BOS/Y05 = 25.8 l/min 017/B17¥17 = 87.4 l/min 4 - S4 (for fire resistant fluids)
006/B06/Y06 = 31.91/min 020/B20/Y20 = 95.7 I/min ) i ) ) )
008/B08/YO8 = 39.6|/min 022/B22/Y22 = 105.4 |/min 5 - S5 (for mineral oil and fire resistant fluids)
010/B10/Y10 = 51.1 I/min 025/B25/Y25 = 118.9 l/min
012/B12/Y12 = 55.61/min 028/B28/Y28 = 133.21/min Design letter
014/B14/Y14 = 69.0 I/min 031/B31/Y31 = 150.0 l/min
*i0'- Uni - directional 'B'- B - directional "Y' - Bi - directional Porting combination
for cold start 00 - standard

Type of shaft
1 - Keyed (SAE B)

00 01 02 03
P P-S P P
[ =] [ =] [ =] [ =]
3 - Splined (SAE B) = — = s =
. S
4 - Splined (SAE BB) S - Suction port P - Pressure port

Direction of rotation
(view on shaft end)
R - clockwise

L - counter-clockwise

INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT7QC - 022
70
Inlet pressure 0.9 bar abs
30 ‘t\_l Viscosity 32 cSt
24 ¢St 7 < n = 1000 RPM
27 < — — n=1500RPM -
— — — 10cSt ~ [e) Pre
’E " _ & 65 Lw =Lp + 8db (A) .
- ~
=3 - = ~
= 2 - e
7] -~ —~
o] 18 s =z -
- = 7
3 g -
® 15 T, -
fﬂ 2 B - _ -
O 1 - o pras
= - - H - /
g o 7 / ; - /
H K4 L @ 55
€ & Pid ] ° —_—
- 7 4
- ] .
3 - o
P a
0 50
0 35 70 105 140 160 175 190 210 240 275 300 10 50 100 140 175 210 240 270 300
Pressure p (bar) Pressure p (bar)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

PERMISSIBLE RADIAL LOAD
HYDROMECHANICAL POWER LOSS (TYPICAL)

900
5
- —— n=2200RPM 800
— — — n=1500 RPM (24 cSt)
. n = 1000 RPM 700 L _|.Fa
’;‘ Shaft keyed N° 1
= 3 600
[ 3 -
o "_; 500
2 IR R 2
o I S 40
e 2 — =
g -
3 | 300
d I A
L p—————— = — 200
.
[ R
_— ] 100
0
0 35 70 105 140 160 175 190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800
Pressure p (bar) Speed n (rpm)

Maximum axial load permissible Fa = 800 N

Note : Product details are liable to change without notice -




*¢ VELJAN

1.60
40.7)
3/8-16UNCx0.75 DEEP-4 HOLES A4
(M10x19.0 DEEP)
1.41
(35.8)
KEY 0.250/0.248
_ (6.35/6.30)
M8x0.63 DEEP
(16.0)
©|S
N O' -
NS
0.06x45° 0.06x45° </ %
(1.5x45°) (1.5x45% 0.06x45° 5lS E:
(1.5x45°) 2la g
2la ol
Rle 3
Shaft code 3 Shaft code 4 a8 ° <
~1  SAE B splined shaft SAE BB splined shaft Sla
o150 Class 1-J498b Class 1-J498b
@38.1) 16/32 dp. 13 teeth 16/32 dp. 15 teeth Shaft code 1

1/2-13UNCx0.88 DEEP-4 HOLES

(M12x22.4 DEEP)

6.63

30° pressure angle
flat root side fit

2.29

30° pressure angle
flat root side fit

(Keyed SAE B)

(168.4) (58.2) A1
. 3.24 1.50
(82.3) (38.1) 0.38 A2
9.7)
0.31
| | @9
7 T 0.25 MAX KEY 0.1875/0.1855
— ]| (6.35) (4.762/4.711)
ol& T 1.25
g g ] W
L/
os QP | o g
o2 i E - - R - — | - N — d [a]
|2 - N5 8
- Q=
8
5 %
0.06x45° NS g S
| (1.5x45°) S|y ©ol@
T s 8¢
- || g ﬁ ol
0.05x45° Sl
)
\ (1.3x45% Shaft code 2
MOUNTING TORQUE 138 ft.Ibs (Keyed non SAE)
(180 Nm)
| VT7QC1 VT7QC2 oP L B Shaft torque limits in3/rev x psi (ml/rev x bar)
Mounting| SAE B SAE C 0.75(19.05) | 1.874 (47.6) | 0.874 (22.2) Shaft Vp X p max.
D1 4.000 (101.60) | 5.000 (127.00) 1.00 (25.4) 2.06 (52.4) 1.03 (26.2) 14478 (16500)
12666 (14300)
3.998 (101.55) | 4.997 (126.94)
oD2 18246 (20600)
0.56 (14.3) 0.69 (17.5) 19309 (21820)
A1l 6.87 (174.5) 8.36 (212.5)
A2 5.75 (146.0) 7.13 (181.0)
A3 2.87 (73.0) 3.56 (90.5)
A4 0.5 (12.7) 0.62 (15.7)

OPERATING CHARACTERISTICS - TYPICAL (24 cST)

i Volumetric Flow q (Ipm) & n = 1500 rpm Input power p (kW) & n = 1500 rpm
Series Displacement Vp | p = 0 bar | p = 140 bar | p = 240 bar| p = 300 bar|p = 7 bar |p = 140 bar |p = 240 bar|p = 300 bar
003 10.8 ml/rev 16.2 11.9 8.1 - 1.3 5.3 7.8 -
005 17.2 mi/rev 25.8 21.5 17.7 13.7 1.4 7.5 12.2 14.9
006 21.3 ml/rev 31.9 26.5 22.0 18.0 1.5 8.9 14.7 18.0
008 26.4 ml/rev 39.6 34.1 29.6 25.6 1.6 10.7 17.7 21.8
010 34.1 ml/rev 51.1 45.7 41.2 37.2 1.7 13.4 22.3 27.5
012 37.1 ml/rev 55.6 50.2 45.7 4.7 1.7 14.4 24.1 29.8
014 46.0 ml/rev 69.0 63.5 59.0 55.0 1.9 17.6 29.5 36.5
015 50.5 ml/rev 75.1 69.6 65.1 61.1 2.0 18.0 32.0 39.5
017 58.3 ml/rev 87.4 82.0 77.5 735 2.1 19.0 36.9 45.7
020 63.8 ml/rev 95.7 90.2 85.7 81.7 22 23.8 40.2 49.8
0227 70.3 ml/rev 105.4 100.0 95.5 91.5 23 26.1 44.1 50.3
025 "2 79.3 ml/rev 118.9 113.5 109.0 - 2.5 29.2 49.5 -
028"% 88.8 ml/rev 133.2 127.7 124.5 - 2.8 32.7 48.5 -
031"%|  100.0 ml/rev 150.0 144.5 141.3 - 2.8 36.5 54.4 -
1) 025-028-031 = 2500 R.PM. max. 2) 022= 275 bar max. int, 3) 025 = 240 bar max. Int, 4) 028-031 = 210 bar max. int.

-- Not to use because internal leakage greater than 50% of theoretical flow.

Note : Product details are liable to change without notice




*¢ VELJA

HIGH PERFORMANCE VANE PUMP VT7D /VT7DS

VI7DorVI7DS - B42-1 R 00 - A 1 MO -
Series
VT7D series-125 A2 HW Modifications
5010, '
SO 2 bolts ®019-2 mounting flange Mounting w/connection variables
m‘n’t?nsefrl':: 23543 2 bolts 4 bolts SAE flange J518
gfang P=1-1/4"_ §=2"
Camring UNC|METRIC
Volumetric displacement cm3/rev (in3/rev) VT7D Mo
1
B14 = 4°.9 (2.68) Be1 = 99.1 (6.05) vT7DS| 00 Mo [ Y0©
B17 = 55.0 (3.36) B35 = 113.4 (6.92) 1) 250 bar (3630 psi) max. int.
B20 = 66.0 (4.0%) B8 = 120.6 (7.36) Seal class
B22 = 70.3 (4.29) B42 = 137.5 (8.39) 1-81 (for mineral oil)
B24 = 81.1 (4.95) 045 =145.7 (8.89) 4 - S4 (for fire resistant fluids)
B28 = 89.9 (5.49) 050 =157.9 (9.64) 5 - S5 (for mineral oil and fire resistant fluids)
Type of shaft VT7DS
1 - keyed (SAE C 32-1) Design letter
2 - keyed (no SAE) Porti binati
s _ splined (SAE C 22-4) orting combination
. 00 - standard
4 - splined (no SAE)
00 o1 02 03
Type of shaft VT7D - VT7DS P s P P
- 3 -2-(53 [ = — —
om0 oaen @& &b @
Direction of rotation (view on shaft end) s
R - clockwise S - Suction port P - Pressure port
L - counter-clockwise
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT7D- B31
8.0 32 80
| o | |
_— —_—— s P
g_ (7.0) 28 ;: :S: s 3 Inlet pressure 0.9 bar abs
o2 s - 8 Viscosity 32 cSt
€ 6.0) 24 > = n = 1200 RPM
a - E . -—— n=1800RPM
c (6.0 20 _ : Lw = Lp + 8 db (A) -
3 pd - g -7 ;
g (01 _ 3 -
_@ P - < _ - L —
= (3.0) 12 — = S _ -
K] L 2 7 -
= - o -
T (20) 8 - » P /
£ C] - ]
2 P - / 4
£ (10 4 a //
_ // = —
0lF 65
0 35 70 105 140 175 210 240 275 0 35 70 105 140 175 210 240
(500)  (1000)  (1500) (2000)  (2500)  (3000)  (3500)  (4000) (500) (1000)  (1500) (2000) (2500) (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
8 I I (400) 1780 ——
- n = 2500 rpm
7| — —— n=1800rpm (24 cSt) — @s0) 1557 -
n = 1200 rpm /_,/’ . . _|.Fa
6 —— = 300 Shaft keyed N° 1
= - & (©00) 1335
< 5 - ﬂ
b .- - T ;(250) 1100
@ ¢ : e £
2 -7 W (200) 900
5 3 - k]
3 —- — - 3
K , - // = (150) 660
/
1 — (100) 440
/
0 (50) 222
0 35 70 105 140 175 210 240 275 600 900 1200 1500 1800 2100 2400
(500)  (1000)  (1500)  (2000)  (2500)  (3000)  (3500)  (4000)

Pressure in bar (psi)

Note : Product details are liable to change without notice

Speed n (rpm)
Maximum axial load permissible Fa = 1200 N (270 Lbs)




*¢ VELJAN

Bx0.88 DEEP-4 HOLES 2.88
(22.3) 0.62 (73.2)
(15.7)
Ax0.94 DEEP-4 HOLES 0.31 3.06 (*)
(7.9) 217 29 )
(24.0) 1 688 1.188 - . 552) @7.7)
(30.2)| [
(42.9) /Z 1 | 031
77777 KEY 0.3126/0.3106
\ L 1.50 (7.94/7.89)
(38.1)
o< -
o ~ 4 | — §— -|— J— —_ || — -
(] L\, | _
\ o~
s X 0.09x45°
Q ‘ 0 0.09x45° = g 0.09x45° <’7(2.3;450)
] (2.3x45°) 32 alf (2.3x45°)
R Qg
o i E 5’ -
,,,,, Shaft code 3 Shaft code 4
/ -+ Shaft code 2 SAE C splined shaft SAE C spc(*) splined shaft
92.00 01.25 — (KeyedinolSAE) Class 1-J498b Class 1-J498b
(50.8) (81.8) 12/24 dp. 14 teeth 12/24 dp. 14 teeth
30° pressure angle 30° pressure angle
flat root side fit flat root side fit
7.28 3.29
(184.9) (83.6) 8.365
3.44 _1.50 VT7DS (212.4)
(87.4) (38.1) 0.50 c
(12.7)
0.31
7.9 0.25 MAX. KEY 0.313/0.311
‘ ! 6.35) (7.95/7.89)
‘ ‘ U
0@ g ’ 194/ M10x0.70 DEEP
Nl (49.3) / (20.0)
3| Q /
| B
< : 8le
L 8le <Y
o|© s T — { —- - = - — — ¥ 9|5
k= Qe 8|S
%) ~
ols o SR
— 3R 2
0.09x45° |5 S
(> 2xac0) T 9l @
757 (2.3x45°) ,&_) E 2 §
gs -2
0.05x45°
/ <’(1T§50) Shaft code 1 ;
MOUNTING TORQUE 138 ft.lbs (Keyed SAE C) 15'8
(187 Nm) (147.6)
3.44 VT7D Shaft torque limits in3/rev x psi (ml/rev x bar
0.354 (87.4) Shaft Vp X p max.
©®0 a1 1.97 KEY 0.394/0.315 i 36299 (43283)
(7.9) (50.0) (10.00/8.00) 2 30638 (34590)
i 3 54207 (61200)
M10x0.79 DEEP 4 54207 (61200)
(20.0) 5 39238 (44344)
o3
f o< VT7DS VT7D
< |N
-— ﬁ S 00 MO Yo" MO
o
g3 A _[1/213UNC M12 M12 M12
0.09x45° gs 2 = | B_|7/16-14 UNC M12 M10 M12
(2.3x45°) = § a5 c 7.12 (181.0) 7.09 (180.0)
]e 28 __1 D 3.56 (90.5) 3.54 (90.0)
L)
Shaft code 5 % E 0.69 (17.5) 0.71 (18.0)
(Keyed ISO R775) 1) 250 bar (3630 psi) max.int
OPERATING CHARACTERISTICS - TYPICAL (24 cST) )
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm |
t Series|Displacement Vp|p = 0 bar (0 psi)|p = 140 bar (2000 psi)| p = 300 bar (4350 psi)| p = 7 bar (100 psi)|p = 140 bar (2000 psi)p = 300 bar (4350 psi)
ROl indrev_| cmrev | gpm [ Ipm | gpm Ipm gpm Ipm hp kw hp kw hp kw
B14 2.68 43.9 20.92| 79.1| 19.18 725 17.19 64.9 3.46 2.6 27.77 20.7 58.49 43.6
B17 3.36 55.0 26.16| 98.8 | 24.41 92.3 22.42 84.7 3.77 2.8 33.88 25.3 71.92 53.6
B20 4.03 66.0 31.39| 118.6 | 29.64 112.0 27.65 104.5 4.07 3.0 39.98 29.8 85.35 63.6
B22 4.29 70.3 33.43| 126.4 | 31.69 119.8 29.70 112.3 4.19 3.1 42.37 31.6 90.60 67.6
G B24 4.95 81.1 38.57| 145.8 | 36.82 139.2 34.83 | 131.6 4.49 3.4 48.36 36.1 [103.78 77.4
u B28 5.49 89.9 42.80| 161.8 | 41.06 155.2 39.06 | 147.6 474 35 53.30 | 39.7 |114.65 85.5
VT7DS B31 6.05 99.1 47.18| 178.3 | 45.43 171.7 43.44 164.2 4.99 3.7 58.41 43.6 125.88 93.7
B35"| 692 | 1134 53.93| 203.9 | 52.18 197.2 50.44 | 190.6 5.39 4.0 66.29 | 49.4 |130.39 97.2
B3s" 7.36 120.6 57.35| 216.8 | 55.61 210.2 53.87 203.6 5.59 4.2 70.28 52.4 138.38 103.2
B42?| 839 | 1375 65.39| 247.2 | 63.65 240.6 62.15 | 234.9 6.05 45 7966 | 59.4 [149.39 |[111.4
045° 8.89 145.7 69.29| 262.0 | 67.11 253.6 65.47 247.5 6.74 5.0 83.75 62.4 144.41 107.7
050 * 9.64 157.9 75.14| 284.0 | 72.96 275.8 71.78 271.3 7.08 5.3 90.58 67.5 134.54 100.3

1) B35-B38 = 280 bar (4060 psi) max.int. 2) B42 = 260 bar (3770 psi) max.int. 3) 045 = 240 bar (3500 psi) max. int. 4) 050 = 210 bar (3000 psi) max. int
* special 2'1/2 (2.5 dia) suction also available - Please contact VELJAN

Note : Product details are liable to change without notice



HIGH PERFORMANCE VANE PUMP VT7E /VT7ES

VI7EoOrVI7ZES - 072- 1 R 0

Series
VT7E series-125 A2 HW
ISO 2 bolts 3019-2 mounting flange
VT7ES series- SAE C 2 bolts
Mounting flange J744
Camring
Volumetric displacement cm3rev (in¥rev)
042 = 132.2(8.07) 057 = 183.2(11.18)
045 = 142.5 (8.70) 062 = 196.6 (12.0)
050 = 158.5 (9.67) 066 = 213.0 (13.0)
052 = 16°.8 (10.0) 072 = 227.1 (13.86)
054 = 170.9 (10.43) 085 = 268.7 (16.40)
Type of shaft VT7E-VT7ES
5 - keyed (ISO R775-G3 8M)
Type of shaft VT7ES
1 - keyed (SAE CC)
2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (SAE CC)
Direction of rotation (view on shaft end)
R - clockwise
L - counter-clockwise

INTERNAL LEAKAGE (TYPICAL)

9.0) 34 - .
- — — 10cst ~ -
g &0 % —— 24cst 3
I - o
D (7.0) 28 - 7]
g o E
2 6.0) 24
£ 0 7 :—:

<
8 (5.0) 20 P <
[ e T
g (4.0) 16 ——= -
P L
X P [
© >
3 @O 12 = o
= @
€ 2o s _ < 2
‘2 P - / z
= (10) 4 -
- )
s
0
0 35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi)
HYDROMECHANICAL POWER LOSS (TYPICAL)
8 (700)
- — n=2200rpm (650)
7 — — n=1800rpm (24 cSt)
—— n=1200 rpm (600)
6 [ B
— e ~ (550)
s e 2
< s e —————— 4 (500
- E——
a Y —_—— -4
. ‘e (50
§ I R )
o 3 ] g
H S (350)
o
o 5 (300)
(250)
4
(200)
0 (150)
0 35 70 105 140 175 210 240

(500) (1000) (1500) (2000) (2500) (3000) (3500)

Pressure in bar (psi)

Note : Product details are liable to change without notice

00

*¢ VELJA

- A

1 Mo -

—[ Modifications

Mounting w/connection variables
4 bolts SAE flange (J518)
P=1-1/2" S=3"

UNCI|METRIC|
Mo

MO

VT7E
VT7ES

00

Seal class
1-S1 (for mineral oil)

4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Design letter

80

75

70

65

3115

2892

2670

2447 |—

2225

2000

1780

1557

1300

1100

880

660

Porting combination
00 - standard

00 01 02 03

P P-s P P
— [ =] — - [
@d: @
| —— —— —

s

S - Suction port P - Pressure port

NOISE LEVEL (TYPICAL)
VT7E- 050

Inlet pressure 0.9 bar abs
Viscosity 32 cSt
n = 1200 RPM
— — n = 1800 RPM
Lw = Lp + 8 db (A)

/

35
(500)

70
(1000)

105
(1500)

140
(2000)

175
(2500)

210
(3000)

240
(3500)

Pressure in bar (psi)

PERMISSIBLE RADIAL LOAD

Fa

Shaft keyed N° 1

600 1000 1400 1800 2200

Speed n (rpm)

Maximum axial load permissible Fa = 2000 N (449 Lbs)




*¢ VELJAN

1/2-13 UNCx0.92 DEEP-4 HOLES

(M12x23.4 DEEP) 244
5/8-11 UNCx0.94 DEEP (61.9)
(M16x24.0 DEEP) 0.69
4 HOLES (17.5)
2.20 2.45
(61.9) (35.7) ! (7.9) 0.31 0.31
. (7.9) (7.9)
b I KEY 0.313/0.311
- i 1.50 / (7.95/7.89) T
- - (38.1) 1.50
e (38.1)
[~
ol ol L |
=< 1P S| N |
2E T “H— I —| -
g5 % |, 0.09x45° |, 0.09x45°
i g (2.3x45°) (2.3x45°)
S| <
g L]
S | oooxase || gle —IT Shaft code 3 Shaft code 4
] (2.3x459) Shaft code 2 SAE C splined shaft SAE CC splined shaft
(keyed no SAE) Class 1-J498b Class 1-J498b
12/24 dp. 14 teeth 16/32 dp. 17 teeth
30° pressure angle 30° pressure angle
flat root side fit flat root side fit
8.87 3.58
(225.3) (90.9) VT7ES 8.386
4.33 2.06 (213.0)
(110.0) (52.3) K
0.31
! 7.9) 0.25 MAX.
) ‘ ‘ ] (6.35) KEY 0.375/0.373
g T / (9.52/9.47)
N—
a|o 2.00
@0 M10x0.79 DEEP
alg (50.8) / )
o|®
N~
RE - 8
oooxase || 3|8 E:
(2.3x45%) Z8 o[®
i g5 25—
— ] PSR 2
/ |, exa5° Ql
Shaft code 1 3.54
MOUNTING TORQUE 138 ft.lbs
(187 Nm) (keyed SAE CC) (89.9) VT7E
w
Shaft torque limits in3/rev x psi (ml/rev x bar (07391) KEY 0.394/0.315
Shaft Vp x p max. (10.00/8.00)
1 48273 (54555)
2 30638 (34590) 1.97 M10x0.79 DEEP
3 54207 (61200) 60.0) 1 /7 (20.0)
4 54207 (61200)
5 48273 (54555) I
= »
Q
Alternate mounting flange -
Series os ex45° w K oD ooz | g § g _
MAX. Min. (2.3x45°) = 9 8
o Q|
VT7E | 4.921 (124.99) | 4.919 (124.94) | 0.079 (2.0) | 0.374 (9.49) | 7.087 (180.0)| 0.709 (18.0) g% - —
{] ~
VT7ES | 5.00 (127.00) | 4.998 (126.94) | 0.051 (1.3) | 0.50 (12.7) | 7.126 (181.0)| 0.689 (17.5) o exa5°
Shaft code 5
(Keyed ISO R775 - G38M)
OPERATING CHARACTERISTICS - TYPICAL (24 cST)
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
ort Series| Dlsplacement VP p = 0 bar (0 psi)|p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)_l_p = 240 bar (3500 psi)|
P in3/rev_| cm3/rev gpm | Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
042 8.07 132.2 62.92| 237.8 | 60.37 228.2 58.52 221.2 8.09 6.03 78.44 58.49 133.80 | 99.77
045 8.70 142.5 67.72| 255.9 | 65.17 246.3 63.32 239.3 8.37 6.24 84.04 62.66 143.60 | 107.08
050 9.67 158.5 75.38|284.9 | 72.83 275.3 70.98 268.3 8.82 6.58 92.97 69.32 159.24 | 118.75
VT7E 052 10.00 163.8 78.37|296.2 | 75.82 286.6 73.97 279.6 8.99 6.70 96.47 71.94 165.36 | 123.31
VT7ES 054 10.43 170.9 81.27|307.2 | 78.72 297.6 76.87 290.6 9.17 6.84 99.75 74.38 177.46 | 132.33
057 11.18 183.2 87.12| 329.3 | 84.57 319.7 82.72 312.7 9.51 7.09 | 106.57 79.47 189.84 | 141.56
062 12.00 196.6 93.54 | 353.6 | 90.99 343.9 89.14 336.9 9.88 7.37 | 11417 85.13 196.34 | 146.41
066 13.00 213.0 [101.44|383.4 | 98.89 373.8 97.04 366.8 10.34 7.71 | 123.38 92.0 212.46 | 158.43
072 13.86 227.1 |108.00 | 408.2 | 105.45 398.6 [103.60 391.6 10.72 7.99 |131.04 97.71 225.86 | 166.42
085" 16.40 268.7 |127.79|483.0 (126.13 476.7 - - 11.88 8.85 | 101.66 75.80 - -
1) 085 = 90 bar (1300 psi) max.int. & 085 = 2000 rpm max. * special 3"1/2 (3.5 dia) suction also available - Please contact VELJAN

Note : Product details are liable to change without notice



	Button4: 
	Button10: 


